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���� "����������� ��	������#

���� � � � � � � � � � � � � � � � � � � � � ��
���� "����������� ��$�����
���� � � � � � � � � � � � � � � � � � � � � � � �%
���� &���������� '������� ��(����	� � � � � � � � � � � � � � � � � � � � � ��
�� � )��
��
�� ������������ � � � � � � � � � � � � � � � � � � � � � � � � � ��

�� �������������
���� ��
���� *	�+,�����-���������!�	� � � � � � � � � � � � � � � � � � � � � � � ��
���� .����������� ��$'�� �����	
����� � � � � � � � � � � � � � � � � � � � �

���� *�������!� ����������� ��$'�� � � � � � � � � � � � � � � � � � � � �/
�� � 0������������� ��$'�� � � � � � � � � � � � � � � � � � � � � � � � ��

�� ��
�� �� ��!����� ��
 ��� *	���������1 �	�������$ � � � � � � � � � � � � � � � � � � � � � � � � �/
 ��� 2�
������$����3��� � � � � � � � � � � � � � � � � � � � � � � � � � � �/
 ��� .�$�������3��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  �

�� "!#�� �� ��

��� �����	
�����1 ,�+�3��$� � � � � � � � � � � � � � � � � � � � � � � �  
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��� "����������� �!�	�	��������� �� �!�	�	�������$ � � � � � � � � � � �  �

� � &�������� �!�	�	��������� �#

���� � � � � � � � � � � � � � � � � �  %

�
� 5���� ��( � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �  %

�6� 7	�
$����
 87�9 �	������	� � � � � � � � � � � � � � � � � � � � � 
�

�/� �!�	��
�����3� 8�29 �	������	� � � � � � � � � � � � � � � � � � � 
�

��� �!�	��
�����3� - �	�
$����
 8�27�9 �	������	� � � � � � � � � � 
�

�%� �� ����
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��
%)

F (x) = P {ω : X(ω) < x} = P {X < x}

*� ��) )
�	�,���: P {X > x}1 P {X < −x}
*��	�,���: P {|X| > x}

+� ���
�(

��
%) f(x) = F ′(x) 8�� �������9

�� ,��� � ���)

E [X] =
∫

Ω
X dP =

∫ ∞

−∞
xdF (x)

0�� ���,�
 ������� 8��� � ;�!���-��	����� ������91 �� ����� ±∞ ��
� <�!,����� ����������!� ������=:

E [h(X)] =
∫ ∞

−∞
h(x)dF (x)

>� X ≥ 01 ���	� E [X] =
∫∞
0 [1 − F (x)]dx

-� ���.�
%�
�#���
��
)

P {|X| > ε} ≤ E [|X|]
ε

��������	
�

E [|X|] =
∫

Ω
|X|dP ≥

∫
ω:|X(ω)|>ε

|X|dP ≥ ε

∫
|X|>ε

dP = εP {|X| > x}

*(

����
��
) X �� Y �#

�������1 ��

∀x, y P {X < x, Y < y} = P {X < x}P {Y < y}
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+�� ��
�
%���)

D2[X] = E [X − E [X]]2 = E
[
X2
]− (E [X])2

>� X �� Y �#

�������1 ���	� D2[X +Y ] = D2X +D2Y 8� ��$�����
����
� ���	,�� �!�!����9

/��0����.�
%�
�#���
��
)

P {|X − E [X] | > ε} ≤ D2[X]
ε2

1��� ��
2��

Cov [X,Y ] = E [(X − E [X])(Y − E [Y ])] = E [XY ] − E [X] E [Y ]

>� X �� Y �#

�������1 ���	� Cov [X,Y ] = 0 8X �� Y �	�����������	�9�
5	�,3��� ��� ���,�
 �
���

1�  ���2��

ρ(X,Y ) =
Cov [X,Y ]√
D2X

√
D2Y

ρ(·, ·) ��������	���� �� L2(P ) =
{
X : Ω → R | ∫ X dP = 0,

∫
X2 dP < ∞}

>��'���-���'���

+��
!� !������ >� μ = E [X] , σ2 = D2X1 ���	�

X
′
=

X − μ

σ

� 
���
��
��	�� ����	�$� &��,�!� x̄−μ
σ/

√
n

=
√

n x̄−μ
σ ∼ N(0, 1)� �������'�� � μ

������1 ,� � σ2 ���1 ���	� �������� � '���#�� ������� �������(!�:

t =
√

n
x̄ − μ

s∗n
=

√
n

x̄ − μ

σ

√
σ2

s∗n2 ∼ N(0, 1)√
X 2

n−1

n−1

)� !�$''� ��	������ n − 1 ���'�,��
� �	�? t-��	�������� ������#�1 �@�@��
�#

-
�����

f(x) =
1√
2nπ

Γ(n+1
2 )

Γ(n
2 )

1

(x2

n + 1)
n+1

2

n → ∞ ������ ���
 
�	���� ���� N(0, 1)-���� �� � ���������@ t1 ��	����� ��
�-

����� � ;�!���-��	��������1 ����� ����� ������$ ������� E [tn] = 01 �� n > 1 ��
D2[tn] = n

n−2 1 �� n > 2�
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)�	�����
*������-
�������!�
�#

����

B�����$
�����

.�$���-
��
����

&	���	�
λ > 0

e−λ λk

k!
eλ(eiu−1) λ λ

C��	������
n = 1, 2, . . .

0 < p < 1� q = 1 − p

(
n

k

)
pk qn−k (peiu + q)n np np q

&�����
0 < p < 1� q = 1 − p

pqk p

1 − qeiu

q

p

q

p2

0�
��3� '��	������
r = 1, 2, . . .

0 < p < 1� q = 1 − p

(
r + k − 1

k

)
prqk

(
p

1 − qeiu

)r rq

p

rq

p2

5	���	�	�
��	�����	�

.@�@��
�#

����
*������-
�������!�
�#

����

B�����$
�����

.�$���-
��
����

)D�	���������
λ > 0

λe−λx �� x ≥ 01
0 �#���'��

λ

λ − iu

1
λ

1
λ2

E����
r > 0� λ > 0

λe−λx (λx)r−1

Γ(r)
�� x ≥ 0

0 �#���'��

(
λ

λ − iu

)r r

λ

r

λ

)
��������
[a, b]��

1
b − a

�� a < x < b

0 �#���'��

eiub − eiua

iu(b − a)
a + b

2
(b − a)2

12

0	������
μ ∈ R� σ2 > 0

1√
2πσ2

e−(x−μ)2/2σ2
eiuμ−σ2u2/2 μ σ2

.�����������
��	�����	�

.@�@��
�#

���� )�����3���
B�����$
�����

.�$���-
��
����

C���
α, β > 0

xα−1xβ−1

B(α, β)
x ∈ [0, 1]

0 �#���'��

Γ(1,a)
Γ(1,a)+Γ(1,b)

α
α+β

αβ
(α+β)2(α+β+1)

χ2

n ∈ Z+

x
n
2
−1 exp

(−x
2

)
2

n
2 Γ
(

n
2

) x > 0

0 �#���'��

∑n
i=1 N(0, 1) n 2n

.�!,���1 t
n ∈ Z

1√
2nπ

Γ(n+1
2

)

Γ(n
2
)

1

(x2

n
+1)

n+1
2

N(0,1)√
X2

n−1
n−1

α
α+β

αβ
(α+β)2(α+β+1)

5�����1 F
m, n ∈ Z+ -

χ2
n−1/(n−1)

χ2
m−1/(m−1)

n
n−1 1

�� n > 2

2n2(m+n−2)
m(n−2)2(n−4)

�� n > 4
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�� 3�4
	2��� ��� ���� !"# $�%& '()*+�,�-+.%/ '0)���*" 1%& ξn +�2��(�( ���	-
��������!��� �(2� 1%& ξ '0)���*$��# (�1��&/31�

∀ε > 0 P (|ξn − ξ| > ε) → 0.

�� 3�4
	2��� ��� ���� !"# $�%& '()*+�,�-+.%/ '0)���*" 1%& ξn +�2��(�( ��(,-
��� ���,��#��# '(%& �0+ +�*'() � ���$��3�@��

�� �(2� 1%& ξ '0)���*$�� 4ξn →
ξ ����# /))� � '()�5# (�1��&/31�

P
(
ω ∈ Ω : lim

n→∞ ξn (ω) = ξ (ω)
)

= 1

*������ ������$1 �	
� �� � ���$��3�@��
@ �	����
����� ��
� !��� �	�(� �
���	��������!� �	����
������� � ,�+�3��$ ����(�� !
����� ���,�� ε > 0 ������
� χ{|ξn−ξ|>ε} ��,����	�-����	�$ ���� �-�	� ����� )� � �	�	��� �	����	�1 �����
�����������$ � ����
���-�����1 ��
���

Eχ{|ξn−ξ|>ε} = P (|ξn − ξ| > ε) → 0.

�� 5���� 61����
� ��7� 6( X1,X2, . . . 78%%1�)1�# (����+ 1)�+�)0+9 '0)���*"#
�1)&1"�1" ).�1�/" .+ '.%1+ ( ":�:+ '02$(�* .2�."8"� EXi = μ < ∞# (""�2

X1 + . . . + Xn

n
→ μ � '()�

� �	��''���'�� ����� � �������� �
� ������ �$,	�3�	�� ����(�� '��	��3�(!�:
���	�,(!� �� ��	�	� ��	������� �	����	�$ ��
��	�3����1 ,� �����'� �����������#�1
�	
� � ������$ ������� ������� � ��$���	� �� �������� �� ��
����1 ��� �
� ��!�-
��'������� �������!�	� �� ���3�!���

�� 5���� 68�
% ������ � #� �9 ��
%�7� �� X1,X2, . . . 78%%1�)1� '()*+�,�-;
+.%/ '0)���*"�(" ).�1�/" .+ '.%1+ (� 1)+< ".� ���1��!�(# '()(�/�� �1) 1+8) (�
()033/ (����++0%�

∞∑
n=1

D2 (Xn)
n2

< ∞.

�""�2 /%(� ( 0�
� .���	� )��� "��������

1
n

n∑
k=1

(Xk − EXk) → 0 � '()�

� �	��''���'�� �� �
�����@��
 ��,����� 8�� �� �������	���
 ��	�'3���� ���-
�#�9 ��������#�1 �	
� ���,�� k-�� EXk = 0� )��� ��������� '�'��	��3�!�� �
�
����� ���3����1 �� ?�� ���������-�������

�����) >� qn ��
�������� ����$ �	�	�	� �����
��3� �����	�	��� �� �∑∞
n=1 an �	� �	����
���1 ���	� 1

qn

∑n
k=1 qk ak → 0�



��=� � ��	
 ��>��
 ��?� �@����
� %

:���
%	���) F�
��� Rn =
∑∞

k=n ak � �	� ����,����
(�� � �������� �����
Rn → 0� )��	� ���,�� �	���3� ε-�	� ������� �
� N �#���'��,�D ?
�1 �	
�
∀n ≥ N ������ |Rn| ≤ ε� 5��3�(!� � ������3���,$ �����,	� �������$(��:

n∑
k=1

qk ak =
N−1∑
k=1

qk ak +
n∑

k=N

qk ak =
N−1∑
k=1

qk ak +
n∑

k=N

qk (Rk − Rk+1)

� ��
!�	��$ �����
�� � ��	���	� �$,	� ������3�(!�:∑n
k=N qk (Rk − Rk+1) = qN RN − qN RN+1 + qN+1 RN+1 − qN+1 RN+2+

+ . . . + qn Rn − qn Rn+1 = qN RN +
∑n

k=N+1 Rk (qk − qk−1) − qn Rn+1

� �������$ �'��	�?� ������� ���#���� '���#�(#�:

∣∣∣∣∣
n∑

k=1

qk ak

∣∣∣∣∣ ≤
∣∣∣∣∣
N−1∑
k=1

qk ak + qN RN

∣∣∣∣∣+
n∑

k=N+1

|Rk| (qk − qk−1) + qn |Rn+1| ≤

≤ K + ε (qn − qN+1) + qnε.

)�	����� qn-��� �� n-��� ��
�������� ������ ��� ���(!�1 �	
�

lim sup
n→∞

1
qn

n∑
k=1

qk ak ≤ 2ε.

A� ε ��������
�� �	��1 ����� � ������ ������� �� �-��� �
������
���������� � ������ � qn = n �� an = Xn/n ���������3�������� ��� ���(!�1

�	
�
∞∑

k=1

Xk

k
< ∞ � ���� =⇒ X1 + . . . + Xn

n
→ 0 � ����

B�
#� '����(!�1 �	
� � ����� ��������� ���
��
�� �������� ���� ���������$ ���-
������(���� ���(��#������� )���� ��� ���� �
��	��!��1 �	
� �� Ean = 0 ��∑∞

k=1 Ea2
k < ∞1 ���	� Sn =

∑n
k=1 ak � ���$��3�@��

�� �	����
���� )� �	�-

�	��� ���	� ��� ����1 �� ∀ε > 0∃N = N (ε) ?
�1 �	
� ∀n > m ≥ N ������
|Sn − Sm| < ε� 5��3�(!� � �	���������� ��������:

∃ε > 0 ?��� ∀N -�� ∃n > m ≥ N 1 ������ |Sn − Sm| ≥ ε 8���9

� ;��'����-�
�����������
 ����� ��
�3���� n1 m �� ε �������

P (|Sn − Sm| ≥ ε) ≤ D2 (Sn − Sm)
ε2

=

n∑
k=m+1

Ea2
n

ε2

>� n → ∞1 ���	� � '�� 	�,��	� � {∃n : |Sn − Sm| ≥ ε} ������� ���$-
��3�@��
��1 � (	'' 	�,��	� � �	����
���

∑
Ea2

n �	� �-�	� ����$ ����,����
-
(�� ���(!�1 ����� �� m → ∞ ��������������� �� �,$,��1 �	
� �� A (ε) =
{∀N ∃n,m ≥ N : |Sn − Sm| ≥ ε} ������� ���$��3�@��
� �� )� ���,�� +D ε-��
�������1 ���'�� ������� ������$1 �	
� �� 8���9 ������� �� � ���$��3�@��
@�

�



�� �� �������� �����������	�������� �����


���� � ��
������ ������������������

� ��
� ����	� ���� �������� ����� �#

�����1 ��	�	� ��	�����? Xi ����	�$���
dn = X1+···+Xn

n −μ � ���$��3�@��

�� �-�	� ����� � dn ��������
 ������$ ������

� �� ��$�����
����� σ2

n 1 ����� �
√

n

σ

(
X1 + · · · + Xn

n
− μ

)
��������
 ��$�����
����� ���,�� n-�� �� )���� � �������� �	�	������ �� ��	��-
����� ����
��(!� ��
� n-���

�� 3�4
	2��� ξn
d→ ξ 41)�+�)0+3(�5# $(

Fξn(x) → Fξ(x),∀x ∈ C(Fξ),

($�) C(Fξ) (� Fξ 7�)&����++0%/ A��� (/�(" $()�(�(�

/ ��� .+��;�2��$ �����) >� Xn → X 
���
�� �� Xn �� Yn ���	���
�
�-�	� ����1 ���	� Yn → X 
���
���

�� 3�4
	2��� 1� ���� ������;� �(

��
%

ϕX(t) = E
[
eitX
]

=

∞∫
−∞

eitx dF (x)

�� 5����� *��%��
����
� �����

ξn
d→ ξ ⇔ ϕξn(t) → ϕξ(t)

� ����,��, �	������ ��	����� ��������������!� �#

����� ϕN(0,1)(t) = e−t2/2�
� � ���#�� �	���(������ ����(�����(#� � ��������������!� �#

����� � �	���-

�!�	� ��
3���
����:

ϕX(t) =
n∑

k=0

tk

k!
ϕ

(k)
X (0) + o(tn)

ϕ
′
X(t)|t=0 = E [iX] eitX |t=0 = iE [X] 1 ������� ������'��

ϕ
(k)
X (t)|t=0 = E [iX]k eitX |t=0 = ikE

[
Xk
]
.

"����

ϕX(t) =
∞∑

k=0

(it)k

k!
E
[
Xk
]

+ o(tn+1).

.���������� �� μ = 0, σ = 1,Ψ(t) = EeitX1 1 ���	�

ϕX1+···+Xn√
n

(t) = Ee
it

X1+···+Xn√
n = Ψ

(
t√
n

)n

=

=

[
1 + i

t√
n

E [X1] −
(

t√
n

)2 1
2
E [X1]

2 + o(t2)

]n

=

=
[
1 − t2

2n
+ o(t2)

]n

→ e−t2/2

)���� '�'��	��3�	��!� � �����	��
 ���	����
��	
������ :



��B� � �C�������>��� ������>� ��

�� 5����� 6( 78%%1�)1�# (����+ 1)�+�)0+9 Xi '0)���*"2( E [X1] = μ < ∞ .+
D2[X1] = σ2 < ∞# (""�2

√
n

σ

(
X1 + · · · + Xn

n
− μ

)
d→ N(0, 1)

���� � 
����
��
���� ��������

)
� X ���$� �����@ ���$��3�@��
� ����	�$� μ �� σ2 ���������@ �	������ ��	��-
���?��� �����#�� 8����,�� X ∼ N

(
μ, σ2

)
91 �� ��	������ �'��	�?� �	���	�	� ��

�@�@��
�#

�����
1√

2πσ2
e−

(x−μ)2

2σ2 , ∀x ∈ R.

*������ ������$1 �	
� EX = μ �� D2 (X) = σ2� � �	��''���'�� ���� ��	��-
��� ��'',������$� �������	�3������� �	
����	�!��� 4�,!�(!�� �� �
� �#

�����1
��	�	� N (0, 1) ��	�����? ����	�$�'$� ���$ X = (X1, . . . ,Xn)T n ,������$� ���-
�	�����	�$'$� �� ��
����� A ∈ Rk×n �� µ ∈ Rk ��������
�� ,�������������!�
�����D	� (k ≤ n)�

�� 3�4
	2��� �� Y = AX+µ ()("9 '()*+�,�-+.%/ '0)���*"(� k ,������$� �	�-
����� ��	�����?�("# �0++�*'() �!����	�������(" �1'1��8"�

� ,�+�3��$'$� ����������1 �	
� EY = µ �� �	� (Y) = AAT =: Σ1 ��	� � Σ
�	���������-�����D k×k-,������$�� >��	��$�� �
�����@�� �,$,��� � ���������
�!��(,	���
	�:

�� >� Y �	������ �� B ∈ Rl×k1 b ∈ Rl1 ���	� BY+b �� �	������� .����������
���,�� k ,������$� c ����	��� cTY �	������ ��	�����?� G�,���� �$,	�
�� � �!��(,	���
 (������� � �!����	������ ��	������: �� ���,�� c ����	���
cT Y �	������1 ���	� Y �!����	�������

�� >� �,	�� �
� µ ∈ Rk ����	� �� �
� Σ ∈ Rk×k ����������!� �	���3� �����-
,�+��� �����D1 ���	� ������� 	���� Y k-,������$� �	������ ����	�$1 ������
EY = µ �� �	� (Y) = Σ�
:���
%	���: �� ���3��� ���������� ����� Σ ��(��������� �����
��3� ��-
�$� ����	�� A��
	��������� � Σ-� ��� ���(!�1 �	
� Σ = UT ΛU 1 ��	�
U !����� �����D �� Λ = ,��
 (λ1, . . . , λk)� F�
��� A = UT

√
ΛU 1 ��	�√

Λ = ,��

(√

λ1, . . . ,
√

λk

)
� )��	� AAT = Σ �� �� Y = AX + µ ������-

������ ��
���(!� � �3���� ����	�$��

�� >� ���
 (A) = k1 ���	� Y �'��	�?� �	���	�	� ��	�����? �� � �@�@��
�#

-
�����

fY (y) =
1

(2π)k/2 (det AAT )1/2
exp
{
−1

2
(y − µ)T

(
AAT

)−1
(y − µ)

}
,

��	� y = (y1, . . . , yk)�
� 0���
%	���� ������� � k = n ����'�� ��
���#� ��� 5��3�(!� �� X =



�� �� �������� �����������	�������� �����


(X1, . . . ,Xn)T ����	�����	�$ ��'',������$� �@�@��
�#

������:

fX (x) =
n∏

i=1

fXi (xi) =
1(√
2π
)k e

− 1
2

n∑
i=1

x2
i

=
1

(2π)k/2
e−

1
2
xTx, x ∈ Rn

H�����'�� �� ϕ: Rn → Rk <������� ����= �#

����1 ���	� �� Y = ϕ (X) ���-
�	�$ �@�@��
�#

������ � ��'',������$� ����
���	� ���������3����� ����
-
���-�	��!��(���� ��
3���
���� � ��������������� ����� ���3��� 8�,� ���,�!�
������� ����������
 ������� �
 ��� 
���!
���������" ##$% �%9:

fY (y) = fX

(
ϕ−1 (y)

) · ∣∣∣det
(
ϕ−1
)′ (y)

∣∣∣
.���������� �� Y = AX+µ ����'�� XT X = (Y − µ)T (AAT

)−1 (Y − µ)1
�����

fY (y) =
1(√

2π
)k |detA|

exp
{
−1

2
(y − µ)T (AAT

)−1
(y − µ)

}
.

A� n = k ������ det A =
(
detA · detAT

)1/2
1 ��
��� �� ���3���'�� ��������

�������� ����!��
� k < n ����'�� �� A �����D	� '��3��#� �� �	��''� n − k ,���' �	����
8���� ��������
�� ������#� B �����D���91 ��
��,�
 ?
�1 �	
� A �� B �	���
��
����� ���	����� �
������ ������
�� ����	�	� 8�� ���,�
 ��
������
� &������'��
� �����������	�� ��
3���
����9: ABT = BAT = 0� ��
�
�����@��
 ��,����� ��
�#� ���1 �	
� µ = 0.

)��	� � C =
[

A
B

]
�����D n× n ,������$� ���(�� ���
? �����D1 ����� ��

Ỹ =
[

Y
Ȳ

]
=
[

A
B

]
X ����	� �@�@��
�#

�����

f Ỹ (ỹ) =
1(√

2π
)k

(det CCT )1/2
exp
{
−1

2
ỹT
(
CCT

)−1
ỹ
}

,

��	� ỹ = (y, ȳ) ∈ Rn� A� � ������
����
 ����� CCT =
[

AAT 0
0 BBT

]
�� (

CCT
)−1

=

[ (
AAT

)−1 0
0

(
BBT

)−1

]
,

�������� detCCT = detAAT · detBBT � ��� ���(!�1 �	
�

ỹT
(
CCT

)−1
ỹ = yT

(
AAT

)−1
y + ȳT

(
BBT

)−1 ȳ,

��
��� �� Ỹ �@�@��
�#

����� ��	��$���������� '	����: fỸ (ỹ) = fY (y) ·
fȲ (ȳ)� 4���� '���	�	�3����(!� �� ���,��� Y ����	�$ �@�@��
�#

������:

fY (y) =
1(√

2π
)k

(det AAT )1/2
exp
{
−1

2
yT
(
AAT

)−1
y
}



��B� � �C�������>��� ������>� ��

� ����� ������3���'$� �� �� ����������1 �	
� � k ,������$� �	������ ��	������
��
�����	��� � µ ������$ ����� ����	�� �� � Σ �	���������-�����D��

�� �,,�
��� ����(�� ������$1 �	
� � �!����	������ ��	����� �������	�������1
����������� �� �
�,������$� ��	�����	� �� �	��������� "������������ �� �
� ���-
,������$� ����	�����	�$ �������	������� �	��������1 �''$� ��
 ��� ����������1
�	
� �
�#������ �� �	�������� ��������� &��,�!� �� U, V ∼ N (0, 1) �#

�������

�� Z =
{

+U, �� U · V ≥ 0
−U, �� U · V < 0

1 ���	� U �� Z ��	�	� �	������ ��	�����?��1 ,�

�
�#������ �� ��	�����!� ��� �	�������
� �	��''���'�� ��
����
��(!� �� �
�#������ �	������ ����	�$� ������#

���

�!��(,	���
����

5����) F�
��� X =
[

X1

X2

]
�	������ E

[
X1

X2

]
=
[

µ1

µ2

]
������$ �����

����	���� �� �	� (X) =
[

Σ11 Σ12

Σ21 Σ22

]
�	���������-�����D����� 84�� � �����D	�

������ ��
!� �� �����D	�1 ����� ?�� '�	�������D	���� ,	�
	�!��� )������
!
���?
� ����� ����	���1 ���� � �������
�� �����D	�����9 )��	� X1 �� X2

�	��	��� ���	� �#

�������1 �� Σ12 = 01 ��
��� � ����	�$� �	�����������	��
� 0���
%	��� �� �,,�
��� ����(�� ��
�	� �
�����@� >� Σ > 0 8�	���3� ,�+���91
���	� ��� �@�@��
�#

����1 ��� Σ '�	��,��
	����� �	��� ����� 8Σ12 = Σ21 = 09
��	���� ����?1 ����� X1 �� X2 �#

�������� >� Σ ��� ���(�� ���
?1 ���	� X11
������� X2 ���������� �#

����� �		�,��������� ����	���� (����(� ���,�� Y1 �� Y2�
� ��''� �	��	���� ���� �		�,������ �������� �	�'�����$(�: Xi = AiYi+bi, i =
1, 2. 4���� ������� ������$1 �	
� X1-�� �� X2-�� �	��	��� ���	� �
�� � �����1 ��
Y1-�� �� Y2-�� �
��� )� � �������� ��,�
 ���(��#�1 �� ΣY = �	� (Y1,Y2) �	���3�
,�+���� )���� '�������� �� I����$�� '3��!��

� ��������� ����� � �!����	������ ����	�$� ���������� ��	���������� ����
�-
�����	� ��?(� ��
3���
���

+2,; �����$�: F�
��� Σ =
[

Σ11 Σ12

Σ21 Σ22

]
	���� '�	�������D1 ������ Σ22

�����������$� )��	� Σ <,��
	����������$=:[
I −Σ12Σ−1

22

0 I

]
·
[

Σ11 Σ12

Σ21 Σ22

]
·
[

I −Σ12Σ−1
22

0 I

]T

=
[

Σ11·2 0
0 Σ22

]
,

��	� Σ11·2 = Σ11 − Σ12Σ−1
22 Σ21 �� J =

[
I −Σ12Σ−1

22

0 I

]
	��	
	����� �����D�

� ����� �
�����@ ������������� � ���������
<��	���: >� X1 �� X2 �
�#������ �	������1 ���	� X2 �� X1 − Σ12Σ−1

22 X2

�#

��������

:���
%	���: >� X =
[

X1

X2

]
�	���������-�����D� Σ1 ���	� JX �	���������-

�����D� � .��!�-����� ����� '�	��-,��
	�����1 ��
��� JX �	������ ��	�����?
�	��	������ �	�����������	�1 ����� �#

��������



� �� �������� �����������	�������� �����


�� !�	��$ �����#�� �� X1 k ,������$� ����	�$ �� X2 n−k ,������$� ����	�$��
�	����	�$ ���������� ��	�������$� ��$�:

5����: >� X �	������ �� � Σ �	���������-�����D �	���3� ,�+���1 ���	� X1

���������� ��	������ �� X2 = x2 �������� ������� Nk (µ1·2,Σ11·2) ��	�����?1 ��	�

µ1·2 = µ1 + Σ12Σ−1
22 (x2 − µ2) .

:���
%	���: �� ����� ���3��� ������� X2 − µ2 �� X1 − µ1 − Σ12Σ−1
22 (X2 − µ2)

�#

�������1 ����� X1 −µ1·2 ��	������ �� X2 = x2 �������� ������� !
�����1 ����

� �������� ����#��

[
X1 − µ1·2
X2 − µ2

]
= J · (X− µ)1 ����� �	� (X1 − µ1·2) = Σ11·2�

���� � 
����
�
����� ��������

C������������ ����������#�� � ���$��3�@��
����3���'$� ($� ������ '��	������ ��-
	�������� )
� �3�������� ����
������� � ����� ���$��3�@��
� ��
��� p� B�
���#�� n
,���' �#

����� �3�������� �� (�
����#� ��� � ������� ������1 �� ��
��� Q� )����
��	������

P {Q = k} =
n!

k!(n − k)!
pk(1 − p)n−k, k = 0, . . . , n

� ���������	��
 8�������� (�������	��
9 ��	����� ����� �������	�3���� ���� ��
������1 ����	� � �3��������� �������� ��'' �������
�� ���������� ����

F�
��� �� A1, . . . , Ar ���(�� ����������,���� �
� �3������ �������
�� ������-
�������� ������� �� (����(� X

(n)
i (i = 1, . . . , r) ���1 �	
� n �3������'�� ������	�

����������� '� �� Ai �������1 ������� ���$��3�@��
� pi� 0������ X
(n)
1 + · · · +

X
(n)
r = n� 8� �	��''���'�� � ����� ��,�D�� �� �
�����@��
 ��,����� ����
�(!��9
�� Xi ����	�$� �
�#���� ��	������ �	�'����	����� ��
�	��	���	� ����(��

������� ��
�����	����$� >� k1 + · · · + kr = n1 ���	�

P {X1 = k1; . . . ;Xr = kr} =
n!

k1! . . . kr!
pk1
1 · · · pkr

r , 8���9

������� �#���'�� �� �� �
�#���� ��	�����'$� ���������(!�1 �	
� � ���
������	�
'��	������ ��	�����?�� �� ���� ��� �!�!����!� EXi = npi �� D2Xi = npi(1−pi)�
>��	��$�� �,$,�� � ���	� �
�#���� ��	������ ��� i 
= j ������

P {Xi = ki;Xj = kj} =
n!

ki! kj ! (n − ki − kj)!
pki

i p
kj

j (1 − pi − pj)n−ki−kj 8���9

)���� ����(�� ������� ������3����$ � ��	���� ������$ ������: EXiXj = n(n−
1)pipj1 ��
���

Cov(Xi,Xj) = −npipj 8�� 9

� ��
��3� �	���������
 ��� ��
����1 ������ ����� ��''���� �	�,!� ��� �
� ��-
�������1 ����� ������''���� �	�,!���� ��� �
� ����� 8����� �� ������ �3������
����� �,	��9 �� � �	��������� �����	� � ������$ ����	�,!���� ��������



��D� � �C�������>��� ������>� �


*�����#� �� X = (X1, . . . ,Xr)T ����	�����	�$�� )���� ������$ ������
EX = n(p1, . . . , pr)T �� �	���������-�����D�

Cov(X) = n ·

⎛⎜⎜⎝
p1(1 − p1) −p1p2 . . . −p1pr

−p2p1 p2(1 − p2) . . . −p2pr

. . . . . . . . . . .

. . . . . . . . pr(1 − pr)

⎞⎟⎟⎠ 8��
9

*������ ������$1 �	
� � ����,��,����� Zn = 1√
n
(X(n) − EX(n)) ����	�����	�$

0 ∈ Rr ������$ �����@ �� �	���������-�����D� � 8��
9 �
������'�� n �������
�������� �����D1 ������ (����(#�� S-����
� Zn ��������������!� �#

�������� �	���(������� '�'��	��3����$1 �	
� n → ∞
������ Zn ��	������ 8�1 .9 ���������@ r-,������$� �!����	����� ��	������	� �����

�� S �����D ���!��?��(� ��
�	� �
�����@:

S = diag(p1, . . . , pr) − (p1, . . . , pr)T (p1, . . . , pr) 8��69

� ���
 ��
�����	�����	� ��	�	��!� ��
 ������� �� ���!��$� ��

A = diag
(

1√
p
1

, . . . ,
1√
p

r

)
�����������$ �����D����:

ASAT = I − aaT , 8��/9

��	� I �� r × r-�� �
���
�����D �� a = (
√

p1, . . . ,
√

pr)T 	���� ����	�1 ������
aTa = 1� J
�

1√
n

A (X(n) −EX(n)) =
(

X1 − np1√
np1

, . . . ,
Xr − npr√

npr

)
d→ Nr(0, I − aaT ) 8���9

� �	���������-�����D�$� ������� '�������$1 �	
� � 0 �
�������1 �� 1 (r − 1)-
������ ��(��������1 ��
��� ���3����$

I − aaT = U J UT

,��
	�������� ����'��1 ��	� U 	��	
	����� �����D ��

J =

⎛⎜⎜⎜⎝
1 . . . 0 0

� � �
0 . . . 1 0
0 . . . 0 0

⎞⎟⎟⎟⎠
� 8���9 �
������'�� �������� ����	�� ���	�
����1 ��
��� ��
��	�	��� �� UT 	�-
�	
	����� �����D���� �� ���,������ ��	�	� �	���?��
?1 ,� 0 ������$ �����@ �� J
�������	���!� �	���������-�����D? �	������ ��	�����? ����	�� ���!��� � �!�-
���	������ ��	����� �!��(,	���
�� ����(�� �� � ����	� (ν1, . . . , νr−1, 0)T ����?1
��	� ν1, . . . , νr−1 )*������� �
�,������$� ����,��, �	������ ��	�����? ����	�$��
*���������������

r∑
j=1

(Xj − npj)
2

npj

d= ν2
1 · · · + ν2

r−1
d= χ2

r−1 8��%9
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�� �������

� ����������� ������
�����

� ����������� � ����
(������
�� ��3������ ���$��3�@��
�������� �	,���� ��������
"�
�#� ���1 �	
� �
� ��
+
���� ���$� �����@ X ��������
 ��'' ��� ���������#�
������ ���������� �#

���1 ��������� ������ �������
�� ���������� �
� Ω �������
���	�� )��	� � ��������
 ?
� ����������1 ���� �
�

X : Ω → R

���������� >� � ��
+
����� ��''���� ��
�����������1 ���	� ��,���� �� Ω ���-
���� ���$��3�@��
� ���!��?����� �������� )��	� �� X ��������� ?�� ��� 
���!
���
�	���� � � ����	�$ �#���'��� ���������$� ��

X(ω1), X(ω2), . . . X(ωn)

��
+
�������� � ���$��3�@��
����3���'�� ��������� ���,���� ��
� ����� � ����	-
�$� ��	�������� �	����	���1 ����� �����#������ �� Ω ������������ ���$ !�����	��
�� �
��� �������� �������� ��1 �	
� �
� ����	�$ ��'' �#���'��� ���������$(��
���������3�(#� �� ���,��� ����	�$ ��'' �#

�����1 ��	�	� ��	�����? �$���(����
�
������ ���������$(����� .������������: �� �
� ����,���'	� ���,	'!�� ��������1
�� !
�����1 ���� �� ���� �
��	��� �� �
�����$� �#

����� ����,���'	� �
�������
���,	'!�� �
������

� ����������� �����	,���(� � )*�������" �����
 ���
��	
+ �����:

X1(ω), X2(ω), . . . ,Xn(ω)

>� ��
�� � ����
(������
�� ����
��(!�1 ���	� � ���������$ ������� � ���$��3�@��
�
����	�$� �	�	����� ������(#��

&� 3�4
	2��� �� n 1)1�- ���,����� ����� ( �/��( �(%&+0% +�12/�� 21��1�1��
�2(�+�7�2�0)� (�

X∗
1 ≤ X∗

2 ≤ . . . ≤ X∗
n

)� � �@����� �� ���,��� ������$� �#

� �������� ����!����$(�� �,(� � ���-
����� �� ���� ������#

���
�� ���� � �#

����� �����'� 8������ ��� �� X∗

1 ≥ t1
���	� � ���$��3�@��

�� X∗

n ≥ t9� >� Xi ��	������ F 1 ���	�

�/



�� =� �������� � ���������
� ������	�����

P {X∗
n < x} = P {X1 < x, ...,Xn < x} = F (x)n

P {X∗
1 < x} = 1 − P {X∗

1 ≥ x} = 1 − [1 − F (x)]n

C�������$1 �	
� �� Xi �
�������� ��	�����? � [0, 1] ���������!�	�1 ���	� X∗
k

��	������ C���(k, n − k + 1)�

�� 3�4
	2��� ��(�/+��/"0�(" �1'1��8" (� X1, . . . ,Xn �/��( Tn(X1, . . . ,Xn) 78%%;
'.�&1/��

��1" ":�8) ( )1%1%&+�12-33 ( ���������
�

X̄n =
X1 + · · · + Xn

n

� 0�
� .���	� "������� ����� �� E [X] = μ1 ���	�

X̄n → μ � ���$��3�@��

��

� ����������� �� � ���$��3�@��
������� ������� ����!���	��� �� ���''� ��'��-
��� �	
���(� �����:

B��$��3�@��
������� .����������

&	�!����$ 7����
B��$��3�@��
 2����3� 
���	����

B�����$ ����� 7��������


����  ����������� ���������!		��
�

�� ��	������#

���� ������������ ��
������(� � ��(�
������� ���
��	
)*������ :

F ∗
n(x) =

1
n

# {1 ≤ k ≤ n : Xk < x}

� ���,����� ����� ��
3���
���� �� �� ���''� ����'� 3����$:

F ∗
n(x) =

⎧⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎩

0, �� x ≤ X∗
1

���
���

k/n, �� X∗
k < x ≤ X∗

k+1
���

���

1, �� X∗
n < x

F ∗
n(x) �������� ��	������#

����1 ��
�	��� nF ∗

n(x) : Ω → {0, 1, . . . , n} '��	-
������ ��	�����? ����	�$:

P {nF ∗
n(x) = k} =

(
n

k

)
F (x)k[1 − F (x)]n−k

E [nF ∗
n(x)] = nF (x)

D2[nF ∗
n(x)] = nF (x)[1 − F (x)]



=�=� ������������ ����>���	
��� �%

� ������� ����(�� E [F ∗
n(x)] = F (x) �� � 0�
� .���	� )��� "������� �����

� ���$��3�@��

��

F ∗
n(x) =

1
n

n∑
i=1

I{Xi<x}
n→∞−→ E

[
I{Xi<x}

]
= P {Xi < x} = F (x)

)�� ?
� ��(���#� �� � ����������� �������1 �	
� � ������������ ��	������#

����
����������� �� ��,
�� �����
����
 '������� �� ��	������#

��������

H�����'��1 �� Tn(X1, . . . ,Xn) � θ ��������� '�������1 ���	� �� ���''� �!��(-
,	���
	��$� '�����#��:

"	��3��������
 E [Tn(X1, . . . ,Xn)] = θ

*	����������� Tn(X1, . . . ,Xn) → θ ���	�������!���
)��� �	����������� Tn(X1, . . . ,Xn) → θ � ���$��3�@��

��

�� 5����� � ����������� ����������� ���������� 6=����
��./�
�����7

sup
x∈R

|F ∗
n(x) − F (x)| → 0 � '()*+�,�-+.%%1)

����  ����������� ��"���
�	����

� ��$�����
���� '��������� ��

s2
n =

1
n

n∑
i=1

(Xi − X̄)2

��������
�� �������(!�� F�����$1 �	
�

E
[
ns2

n

]
=

n∑
i=1

E [Xi − μ]2 − nE [x̄ − μ]2 = nσ2 − n
σ2

n
,

����� E
[
s2
n

]
= (1− 1

n)σ2 < σ21 ��
��� ������������ ��$�����
���� �	��3�	�� '���-
���� σ2-���� )���� ���#���'������� �������(�� �� ?
��������� ������	�� ��(�
��
������ 
� �	
���������:

s∗2n =
1

n − 1

n∑
i=1

(Xi − X̄)2

&� 5����� +���
� .�� �;��

ns2
n =

n∑
i=1

(Xi − a)2 − n(X̄ − a)2

.����������

a = 0 ⇒ ns2
n =

n∑
i=1

X2
i − nX̄2

a = μ ⇒ ns2
n =

n∑
i=1

(Xi − μ)2 − n(X̄ − μ)2



�� =� �������� � ���������
� ������	�����

�� 5����� *��,� .:� ����� ����� X1, ...,Xn ∼ N(μ, σ2) ⇒ X̄ .+ s2
n 78%%1�)1�1"

� '��	��3����	� �� X = (X1, . . . ,Xn) ∈ Rn ����	�� ��	�	��!� ��
 ��

U =

⎛⎜⎜⎜⎜⎝
1√
n

1√
n

. . . 1√
n

1√
n

. . .
���
1√
n

. . .

⎞⎟⎟⎟⎟⎠
�����D����1 �����'�� �� ���� �	� �� 	���	� �,	��1 � ��''� ���� ��������
��1 �������1
�	
� � �����D �������	��
� F�
��� Y = UX �� ���	�
��	�� ����	�� )��	�
Y1 = 1√

n
(X1 + ... + Xn) =

√
nX̄ �� X2

1 + . . . + X2
n = Y 2

1 + . . . + Y 2
n 1 �����

� �	�
���� ��� ����	����(� ��
 � ����	�	� �	������ X �	���������-�����D� ��
�,�������-�����D1 �������� �� Y ����	��1 ������ �� ��� ����	��� � �	�
�����$��
�� Y �!����	������ ��	�����?1 ����� Y �		�,������ )*���������� "	��''�

ns2
n =

n∑
i=1

X2
i − nX̄2 =

n∑
i=1

Y 2
i − Y 2

1 =
n∑

i=2

Y 2
i

B�
��� X̄-� Y1-'��1 s2
n-�� Y2, . . . , Yn-'�� ����	�(!�1 ����� � ��� ����������� �#
-


������ �� �� �������1 �	
� ns2
n

σ2 ∼ ϑ2
1 + ... + ϑ2

n−11 ��	� ϑi ∼ N(0, 1)�

19��������
%) >� X1, ...,Xn ∼ N(μ, σ2)1 ���	�

X̄n ∼ N(μ, σ2/n)
ns2

n

σ2
∼ X 2

n−1

� χ2 �������� �;��$!�
��
��)

�� χ2
n �� χ2

m �#

����� ⇒ X 2
n + X 2

m ∼ X 2
n+m

�� E
[
χ2

n

]
= n �� D2[χ2

n] = 2n

�� χ2
n = Γ(n

2 , 1
2)1 ��
��� E���� ��	�����?

���� #���
������ $������� ��%������

������ ����	
����
����

)���� � �$,������� ?
� '����#�� ��
 �������������1 �	
� � ����� �� � '���#��
��	����� ���� �	����!��� ��
�
��������� "���� � '���#�� k. �	����!�

μ̂k =
1
n

n∑
i=1

Xk
i .

&��,�!� �� �
� (a, b) ���������!�	� �
�������� ��	����� ��� ����������� ����
'���#��� �� (X1,X2) �����'$�1 ���	� 3
� (��!�� ��:



=�E� ����������� F�G����� ���>�>��
 ��

E [E(a, b)] =
a + b

2
,D2E(a, b) =

(b − a)2

12
,

X1 + X2

2
=

a + b

2
,
(X1 − X2)2

2
=

(b − a)2

12
,

X1 + X2 = a + b, 6(X1 − X2)2 = (b − a)2.

)�� �� �
���������,����� ���� ��
	�,��!�� �� (a, b) ���������������
� �	����!��$,���� �������	�3����$ 	���� �����'��1 �	
� � �	����!�	�

������� � ����� �� � ����������� ��	����� ��� �!����	���(��� �������!�� )� ��
�������	�3�	�� �	����!��$,���� ������ �	���������1 ,� ��� '���	�1 �	
� �	�-
�3�������

������ ������� ���������
 ��
����

)� � �$,���� ��� � ���������������� ������ ��
1 ����� �� �,	�� ����� ������� �
��
���$��3�@''1 ������� �	���	�	� ����'�� ���1 �������� � �@�@��
� � ��
��
�	''�
)���� � �������		, �#

����� 8(������'�� L(p,X)9 �������(!�1 ����� �#

�����1
��	�	� ��	�����? ����� ������ �	���	�	� ��	����� ������ �� �
�#���� �@�@��
�#

-
����1 ,������� ����'�� �� �
�#���� ��	������

� ��D��!��������� ������'�� ,����������� ��
���#�1 ��	�'�� ��� �����������
����1 �	
� ���$'�� 
�	'���� ��D��!�	� �,-� �� ∂L(p,X)

∂p = 0 �
������ ��
	�,����
5	���	�	� ����'�� �� �
�#���� �@�@��
�#

���� ��	���� ����'�� ��� ���� )�-

��� �������� ������� ������'�� � �	
�������		, �#

����� 8(������'�� l(p,X) =
log (L(p,X))9 ,������(!�1 ���� � ��� �#

���� 
�	'���� ��D��!�� ?
��� �
�'�-
����1 �� � ��	���� �����
�� ���� ����1 ����� ��
	����� ,���������$�

&��,�!� �� �
� X1, . . . ,Xn ����� λ ���������@ &	���	� ��	�����'$� ������-
���1 ���	� � ���������� � ��������� �$,	� '���#�(#�:

L(λ,X) = P {&	���	�(λ) = X1, . . . ,&	���	�(λ) = Xn} =

P {&	���	�(λ) = X1} . . . P {&	���	�(λ) = Xn} =

= e−λ λX1

X1!
. . . e−λ λXn

Xn!
= e−λn λ

∑n
j=1 Xj

X1! . . . Xn!
.

l(λ,X) = −nλ + log(λ)
n∑

j=1

Xj −
n∑

j=1

log Xj !

0 =
∂l(λ̂,X)

∂λ̂
= −n +

∑n
j=1 Xj

λ̂
1 ����

λ̂ =

∑n
j=1 Xj

n
= X̄n

)D�	��������� �������� � �������		, �#

���� �� �
�#���� �@�@��
�#

����:

L(λ,X) =
n∏

j=1

λe−λXj



�� =� �������� � ���������
� ������	�����

l(λ,X) =
n∑

j=1

(log(λ) − λXj) = n log(λ) − λ

n∑
j=1

Xj

∂l(λ̂,X)

∂λ̂
=

n

λ̂
−

n∑
j=1

Xj = 0.

)''�� � '���#�� ���������

λ̂ =
n

n∑
j=1

Xj

=
1

X̄n

���� &��	��	�� ������������

>� 3�4
	2��� �%& +�(�/+��/"( 1).%+.%1+# $( �/��1� /�7�2�0H/*� �(2�()�(� (
�/��02*)# (�(� ( �/��( 1%& $()�(�3( 1+.+.�1" '()*+�,�-+.%1 �1� 78%% ( A(;
2(�.�12�<)# 71)�.'1# $( /+�12 8" 1�� ( +�(�/+��/"0��

>� 5���� 68�%��
.���� ����� ���2��� �����7� �%& T (X) +�(�/+��/"( 1).%+.;
%1+ ( p A(2(�.�1221# $( ( )/"1)/$��� 78%%'.�& 71)3��)/"

L(p,X) = gp(T (X)) · h(X)

()("3(�# ($�) ( h 78%%'.�& �1� 78%% ( A(2(�.�12�<)�

?� 5���� 6@��.:��2�A���7� 6( (���� 1%& � ��2�,�(�)(� 31H+).+1 1%& p A(2(;
�.�12�1"# (""�2 (� S 1).%+.%1+ +�(�/+��/"02( '1�� E [T |S] 71)�.�1)1+ '02$(�* .2�."
/+ ��2�,�(�)(� 31H+).+1 )1+� p;�1"# +�*20+�.%&�1�1 �1� )1+� �(%&�33# �/�� ( T
31H+).+.# ��'0330 ( 71)�.�1)31� +�121A)< 1).%+.%1+ +�(�/+��/"( �/(�� �1� 78%% p;
�<)�

&��,�!� � &	���	� ��	����� �����'' ������	�� �������		, �#

�����'��

L(λ,X) = e−λn λ
∑n

j=1 Xj

X1! . . . Xn!

��
�����3����$1 �	
� ���
��
�� ����������� ���� ���,�!� �
∑n

j=1 Xj ��
� � ���-
������
 X̄n�



	� �������

�����
�������
����

���� '�
()�
���*�
��������
��

����	� �
� ���������� � ����� ����(�� ��
'���#�#��1 � '������ �	��3������-
��
� ������� ��� �� �!,�� ����������1 �	
� ����	�� � ��$���1 ��
��� � ��
�
����
'�� ����� ������$ �������� �������� ������ �� � '������� 8.	���	� � 
��-
�	����'�� μ ± σ ����'�� �,(�� ��
 ������ � ��3�$����9 7���� ����'' � ��$���1
� '������ ����� (	''�� �	��������� �� ?�� ���-
�������������������1 ��������
���������������
��
�� ��� �� ������#

��� ��������@�3����

?� 3�4
	2��� � (T1, T2) '.)1�)1� /��12'())!��� ( ϑ A(2(�.�12 α;+�/��- "��I;
�1�H/(;/��12'())!�0�(" �1'1��8" $(

P {T1 < ϑ < T2} = 1 − α

� �	�+,�����-���������!�	� ��
�,������ �������	� �$,�����:

�� *����#�� �
� ������ ��	�����? ������������

�� 5��3�!�� �
� ���������!�	�1 ��	�� �� ��
� ���$��3�@��

�� ����

�� *���(���#� � ����������

B��!��

�� X1, . . . ,Xn N(μ, σ2) ��	�����? �����1 σ2 ������� μ-�� ���������� �	�+-
,�����-���������!�	� �,��� "!,(!�1 �	
�

√
n

X̄ − μ

σ
∼ N(0, 1). 8���9

.���������!� ���������!�	� �����#��1 ����� � �	������ ��	����� �������-
���!�� B������� u-��

P
{
−u <

√
n

X̄ − μ

σ
< u

}
= 1 − α

K����(� Φ � �	������ ��	������#

���� ��	������#

������� )��	� � '��	�,��

Φ(u) − Φ(−u)︸ ︷︷ ︸
1−Φ(u)

= 2Φ(u) − 1,

��



� E� �������� 6������������	>���

��
��� Φ(u) = 1 − α
2 1 ������� ��
	�,���

uα/2 = Φ−1
[
1 − α

2

]
,

�� α/2-��� ����	�$ �������
 ������ 4���� ����(���� � μ-� ���(!� �� 1 − α
�����@ �	�+,�����-���������!�	�:

P
{

X̄ − uα/2
σ√
n

< μ < X̄ + uα/2
σ√
n

}
= 1 − α

� %
L-	� �������� ����	�$ �
�#�����$ ���,�!� u0.025 ≈ 1.96�

�� >� �� ����� ���,�'�� ��� �����#� ��� � �	���������1 �� 8���9�
������'��
�
�������
 ������� � '��	�,�� � ��������� �������	���������� ����� ���� �
(	''	�,���	�1 �� n → ∞� )��	� ?�� �
���(������
 �	�+,�����-���������!-
�	� ���!��1 ����� ��
� n-����1 1 − α ���$��3�@��

�� ����������� ��
���������� �����������

�� F�
��� �	�� �� ���� ���,�'�� � μ ������ �� � σ2 ����������� )� !�$''���

������#�� �	�+,�����-���������!�	�� "!,(!�1 �	
�
Xi − μ

σ
∼ N(0, 1)1

�����
n∑

i=1

(
Xi − μ

σ

)2

∼ X 2
n

5��3�!�� �
� ���������!�	�:

P
{
X2

α < X2
α < X

2
α

}
= 1 − α

4���� ����(�����(#� � σ2-��:

P

{
X2

α <
1
σ2

n∑
i=1

(Xi − μ)2 < X
2
α

}
=

= P

{
1

X
2

n∑
i=1

(Xi − μ)2 < σ2 <
1

X2

n∑
i=1

(Xi − μ)2
}

= 1 − α

>	
��� �����	��!� ��
 � X2
α �� X

2
α �����	���M F�
(	'' ����� ?
�1 �	
�

� ��
��@��'' ��
���1 ��
��� E [T2 − T1] → min� )���� �
�����@''1 �� ?
�
�������(!�1 �	
� � ��� ���	� �
����� �?��? ��
���:

P
{

χ2 < χ2
α

}
= P

{
χ2 > χ2

α

}
= α/2

 � "�
�#� ���1 �	
� �� ���� ���,�'�� ���,��� ��������� ���������� �� μ-
�� �����#�� �	�+,�����-���������!�	�� )��	� σ2 ?�� <�����$= ���������
8�!������ ���������9� )��� �������������

√
n

X̄ − μ

s∗n
∼ tn−1



E�=� ���������
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)��	� �� ���� ���,��	� ���	��$��

P
{
−tα/2 <

X̄ − μ

s∗n

√
n < tα/2

}
= 1 − α,

��
���

P
{

μ ∈ [X̄ − tα/2
s∗n√
n

, X̄ + tα/2
s∗n√
n

]
}

= 1 − α

���� +����������� ��"$�� ������	��
��

� ���	���������
���� � ����� ��	�������� 8����� ������������ ��
� ����(���9
�	����	�$ �������� ����������� �� �,��	� ����(��� � ����������� �����������
�	,��� � 
����
������ ���,: (Ω,A, Pϑ)1 ϑ ∈ Θ �� ���������� ����������

B�� �
� ����������#�� � ���$,� ��������������: ϑ ∈ Θn ⊂ Θ1 � �!��-���	�����
8H09� ��� ����
��(!�1 �	
� �� �������
'�� ���-� �� �,��	����� � ��$'����
?
� �	����!��(��1 �	
� �� ���� �����1 ���	
�,(�� � �!�����	������ �� ���� ��-
�	� !���3�(�� ��1 �� �� �,��	� <��
�	� ������	����= ������� )���� �������@ �!��-
���	��������� 	������� ��������1 ������ �����(#�1 �	
� � ��$'� �� �	
(� !���3�����
)� !
����� � ���
��+���� ���,�����

� ����� ����(�� �� ���� �!,�!�� ,������1 �	
� � �!��-���	������ ���	
�,(!�-�
��
� ��,�
 �����(#�� .�����'�(�����
 8H19 � ��������������� �� � �����1 �������
��� ����������1 �	
� � ��$'� ��!���3�$ ������� �,(	�� )� 
������ � H0 �	��-
���������1 ,� ��� ���,�
� � ��$'� ����� �
� t : Rn → 0, 1 ���������1 �����
���,�� n ����@ ������� ��
�	�,(�1 �	
� ����� ����(�� � �!��-���	������ ��-
�	
�,(!�1 ���
� �����(#�� � ������ ���� ��� ,���(!��� ������ ?��$(��� '	����:

Rn = C0 ∪ C1,

��	� C0 ⊆ Rn �� ��)���
	
� ������	�� �� C1 ⊆ Rn � �������
 ������	���
� ��$'�� ��
��''���� 	����	�1 �	
� �
� ?�� (� ��
����
����� ����(�� ,��-

�#��:

C0 = {(X1, . . . ,Xn) ∈ Rn : Tn(X1, . . . ,Xn) ∈ [a, b]}
C1 = {(X1, . . . ,Xn) ∈ Rn : Tn(X1, . . . ,Xn) 
∈ [a, b]}

� ���	���������
���� �	��� � ��������� ������ �	�,!������� ���:

H0-� ���	
�,(!� H0-� �����(#�

H0 �
�� ∅ 4� ��(? ��'�
H1 �
�� 44� ��(? ��'� .��
��+���� ���,����

� ��$'���� ?
� �	����!��(!� ��
1 �	
� �	���3���� ������#� ��� �� ���,-
�����1 �	
� � �!�����	������ �����(#�� )��	� � ������������ �	�,���(!�:

�� >� H0 �
�� �� ���	
�,(!�1 ���	� ��'�� !
��� ��� �����#�� ��1 ,� �� ���,-
���� ��� ���
��+�����
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�� �� ������(? ��'� ������������� ���	���3� ���,����� ���!��� )�� �
�����#��
�����	�'�� �����#��� ?
�1 �	
� ���� 	���� ��$'���� ������#��1 ��������
����� ���$��3�@��
� ������

�� � ���	,��(? ��'� ������������� ����
��3� ���,����� ���!��1 ��
��� ���
�����#� ����� � �	���3� ���,������ 7���� �����'� ������ �� �
� ��$'� ���
� ��(�� ��'��1 ����� �����''��� ������#��

 � .��
��+���� ���,����� ���!��1 �� �������� �����(#� � �!�����	�������

I���� ��$'���� �����#�� �����1 �	
� �
� ����� ��
�3���� ��� α ������

P {C1|H0} ≤ α,

�� ���� ����������� P {C0|H1} ����������

�C� 3�4
	2��� � A2*3( �12 1�1)�1 ( )1%�(%&�33 �1%1�%1�1�� 1)+<7( 9 $/3(�

sup
ϑ∈Θ0

Pϑ{C1|H0} = α

� A2*3( +�/�� 1 4%&("2(� J;3(� "/71 1�'15� 1 − α
�2<78%%'.�&�

γ(θ) = P {H0;� 1)'1� 8" | H0 $(�/+ .+ ( A(2(�.�12 .2�."1 θ}

� ��$'���� ����'�� �������	�� �������������:

�� �	�����
��
 γ(θ) ≥ α1 ��
��� ��
�	'' ���$��3�@��

�� ����#� �� � �!�����	-
������ ���	�1 �� �����1 ���� ���	�1 �� �
��

��
������
2�� limn→∞ γn(θ) = 11 ��
��� � ����� ������,������ �
��� '���	-
��''�� ,����#��

7���� ����'' � ���(�,����1 ����� ��
�	'' �� ���	
�,��� ����	����1 ����
������ �� ��
�	� ��
��	�3�(!� �� ������(? ��'��1 ���	� � ��$'� <��� ����=
������� � �!�����	������1 ��
��� ���,��� ���	
�,� )���	�,!����1 �	
� �
� �,	��
������� ���	
�,(!�1 �
� ����� ������� ��!���3�(!� � �!�����	������� B�� �
� 	����
���(�,����1 �������� � ��$'������������ �	��	��� �� ���	
�,��� ����	���� ��-
����� ��������$� )�� ������#� (���������� H�����'�� �� �
��� ����������	����
�
� �����!� ���(�,������� ,	�
	���� 8��� ����1 ���
 ��
� ���9� � ����3�$
�-
��� 
���	����'�� ������'�� �
� �-������� ���!�� �� � ��������� ���'��� �������
,���#��:

α < p ���	
�,!��
α ≥ p ��!���3�!��

>� � �-����� ��
�	� ����� 8��
� ��
�	� ��
�91 ���	� �	�,���(!�1 �	
� ���,��
���������	� ������� ��!���3�!�� 8������� ���	
�,!��9�
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������
C� ����������� ���F>
 �/

���� '��������� ����
������ ��"$��

� ������������ ��$'�� ��
�,������ �������	� �$,�����:

�� *����#�� �
� ������������ 8�� �� ?�� (� ��
����
�����91 ������� H0 ���(��#-
���� ������ ������ �� ��	������ �� �� ��������
 ��������� �#���'���� � H1

���(��#���� ������ �������� ��	������$�

�� 5��3�!�� �
� 8������
 ����
 ��
�����9 ���������!�	�1 ��	�� �� 1−α ���$��3-
�@��

�� ����� �� ���������!� �	����������� �����(�� ��
 �� ��������	��-
���'�� �������� �������������	�������

�� α ���� � ��$'� ���(�,����1 � ���	�� ���������!� �� ���	
�,��� ����	����

������ �����	
�� u������

>��	��$�� � �	�+,�����-���������!�	��	� �������� �������#�� �
� �#

����� �	�-
����� ��	�����? ������ ������ ��$�����
�������1 ��
��� � ������������ ���� ��
���
N(μ, σ2

0)� � �!�����	����� ��
��� ��1 �	
� μ = μ0� *������ ��������	������ ��-
�������#��: μ �#���'���� � ������� μ0-�$� 8��
��� H1 � H0 �	�����������9 ��
�
��,�
 ��
�	'' ����� �� ���� ����'�� �����
���1 � ���	,��'�� �����
��� �������-
�	�������� '�����#��:{

H0 : μ = μ0

H1 : μ 
= μ0

{
H0 : μ = μ0

H∗
1 : μ > μ0

� ����
��� �����������:

u =
√

n
X̄n − μ0

σ0

H0∼ N(0, 1)

5��3�(!�1 �	
� �� �� ��	�����1 �� μ 
= μ0: MMM

√
n

X̄n − μ0

σ0
=

√
n

X̄n − μ

σ0︸ ︷︷ ︸
N(0,1)

+
√

n
μ − μ0

σ0︸ ︷︷ ︸
dμ

Hμ∼ N(dμ, 1)

5��3�(!� �� 1 − α �����@ �	�+,�����-���������!�	� � H1 ���	�,��� ��������	�����
������:

P
{
−uα/2 <

√
n

X̄n − μ0

σ0
< uα/2 | H0

}
= 1 − α 8���9

)��	� ��� ���(!�1 �	
�

P {4� ��(? ��'�} = P {C1|H0} = P
{|u| > uα/2|H0

}
= α

�� �� ���	
�,��� ����	����

C0 =
{

(X1, . . . ,Xn) :
∣∣∣∣√n

X̄n − μ0

σ0

∣∣∣∣ < uα/2

}
� ���	,��(? ��'�� μ �#

�����'�� ����3�(!� ��:

β(μ) = P {C0|Hμ} = P
{−uα/2 < N(dμ, 1) < uα/2 | Hμ

}
=
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= Φ(uα/2 − dμ) − Φ(−uα/2 − dμ)

>� μ → ±∞1 ���	� dμ → ±∞1 �����

lim
μ→±∞β(μ) = 0

��
��� �� ����#

���� �-��� ����� >��	��$������ �� �� ������$1 �	
� n → ∞
������ +D μ-�� �� �-��� ���� �� ����#

����� >� �� � �!��(,	���
 ���(��#�1 ���	�
��� �	�,(!�1 �	
� � ��$'� �����
����
�

�� ���	
�,��� ����	���� �� {|u| ≤ uα/2} ���������!�1 ��	� � ������!� �������
� P
{|u| ≤ uα/2

}
= 1 − α �
������'�� ���(!�1 ��
���

uα/2 = Φ−1(1 − α

2
)

)
�	�,��? ��������	����� ������ � 8���9 �
������ ������� �������� �	�+,�����-
���������!�

P
{√

n
X̄n − μ

σ0
< uα

}
= 1 − α,

��	� uα = Φ−1(1 − α)� )��	� �� ���	
�,��� ����	���� {u < uα}1 ��
��� ���� �
��$'������������ ��
� ��������� !���3�!�� ���

������ ��
��	
�� u������

� ��������� u-��$'���� ��� �
�����$� �#

����� ����� ������$ �������� ���	�-
�3�(!� �����:

X1, . . . Xn ∼ N(μ1, σ
2
1)

Y1, . . . , Ym ∼ N(μ2, σ
2
2)

}
σ2

1, σ
2
2 ������

� ���	�������: H0 : μ1 = μ2;H1 : μ1 
= μ2� � ��$'������������ ���3�����	�

��
�#� �����1 �	
� E
[
X̄n − Ȳm

] H0= 0 �� D2(X̄n − Ȳm) = σ2
1

n + σ2
2

m � *���������-
������ � ��$'������������

u =
X̄n − Ȳm√

σ2
1

n + σ2
2

m

H0∼ N(0, 1)

������ �����	
�� t������

)� � ��$'� �''�� �#���'���� �� u-��$'��$�1 �	
� ��� �����(#� � ��$�����
�-
�����:

X1, . . . ,Xn ∼ N(μ, σ2), H0 : μ = μ0, H1 : μ 
= μ0 ��
� H∗
1 : μ > μ0

� ��$'������������ �''�� �� ����'�� 8���, 6� 	�,��9:

t =
√

n
X̄n − μ0

s∗n2

H0∼ tn−1

�� ������!� ����� �#

���� � ��������������$� �� ���''� ��'����� �����������
8α = 95%9:



E�E� 
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 �%

n = f + 1 ������!� ����� 8tα/29
� ���/
 ����
�� ���6
���

���
∞ ��%6

���� � ��
��	
�� t������

� ��������� u-��$'��	� ���	��$�� ��� �#

�����1 ���������� ��$�����
����@
����� ������$ ������� ���	��3�(!� ������ � ������ ��������� �#

�����'��
��'' ������ �#���'�����#�� ��
:

�� n = m
F�
��� Zi = Xi − Yi1 i = 1, . . . , n ?( �����1 ������ D2(Zi) = σ2

1 + σ2
2� �

��	'����� ��������������(#� �
� �
�����@ t-��$'���:

H
′
0 : μ = 0, H

′
1 : μ 
= 0

�� n 
= m1 ,� σ1 = σ2 8��� ����� �������(#� � ����'' ����������,� F -��$'����9

�� (n− 1)s∗n
2 + (m− 1)s∗m

2 =
n∑

i=1
(Xi − X̄n)2 +

m∑
i=1

(Yi − Ȳm)2 ��������
��

�� .������-�	��!�� 8�,� �%� 	�,�9 ����(�� ������3��� �� ���(!�1 �	
�

(n − 1)s∗n
2 + (m − 1)s∗m

2 =
n∑

i=1

(Xi − μ)2 +
m∑

i=1

(Yi − μ)2 − n(X̄n − μ)2 − m(Ȳm − μ)2

��	������ χ2
m+n 8��� ���'�,��
� �	�	� ����3�#�� ��9� �� �
������� �������

���	��$�� ��� �� ���3����(!�1 �	
�

E
[
X̄n − Ȳm

] H0= 0 �� D2(X̄n − Ȳm) =
σ2

1

n
+

σ2
2

m
= σ2

(
1
n

+
1
m

)
)''�� �,$,�� � ��$'������������:

t =
X̄n − Ȳm√

1
n + 1

m

√
(n−1)s∗n2+(m−1)s∗m2

n+m−2

H0∼ tn+m−2

����!� F ������

�� 5-��$'���� �#

����� ������ ��$�����
������� ���	��3�(!� �����:

X1, . . . ,Xn ∼ N(μ1, σ
2
1)

Y1, . . . , Ym ∼ N(μ2, σ
2
2)

� ���	�������: H0 : σ2
1 = σ2

21 H1 : σ2
1 
= σ2

2 ��
� H∗
1 : σ2

1 > σ2
2� � ������������

��$�����
���� �!��(,	���
�� ����(�� 8���, �%� 	�,��9

n − 1
σ2

1

s∗2n ∼ χ2
n−1 ��

m − 1
σ2

2

s∗2m ∼ χ2
m−1
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H0 ���(��#���� ������

s∗2n

s∗2m

∼ χ2
n−1/(n − 1)

χ2
m−1/(m − 1)

∼ Fn−1,m−1

)
�	�,��? ��������	����� ������ 8H1 : σ2
1 > σ2

29 ���,�
 �����(#� H1-��1 ��
s∗2n < s∗2m � �������'�� s∗2n ≥ s∗2m 1 ���	� � ������!� ����	����

s∗2n

s∗2m

> Fn−1,m−1(α),

��
��� � �����,	� ��
�	''1 ���� �� F ��	����� α-�	� ����	�$ ������!� �������
>� �� ��������	����� ���	�,���1 ���	� ���������(!�1 �	
�

1/Fn−1,m−1 = Fm−1,n−11 �����

P {F > x} = α/2 �� P {1/F < 1/x} = α/2

F�
��� � ��$'������������

F ∗ = max
{

s∗2n

s∗2m

,
s∗2m

s∗2n

}
=≥ 1

)��	� �� ��!���3���� ����	���� F ∗ ≥ Fn−1,m−1(α/2)�

���� ,�
����
������ ��"$��

0������������� ��$'�� ������ � �������� �� ��	�����	� �
������ �	����	���1 ���
��,�
 �� ��	�����	��� ��3�$ ����������� ������������� &��,�!� �''� � ����
$��-
�'� ����	��� ����� ��,������1 �	
� �,	�� ��������� �#

�������-� �
�����$�1
��
� ��1 �	
� � ��� ������� ��	�	� ��	�����'$� ���������-��

�� ��� χ2�������

)���'�� � ��$'��'�� �
� A1, . . . , Ar ���(�� ����������,����'$� ��,!�!�� ��1
��	� ∀i ∈ [1..r]-�� P {Ai} = pi� �� N ����������� N �#

����� �3���������
������(#�1 �� �� Ai '���������������� ������ Xi-��� (����(#�� )���� ��	������
�!����	������ 8�	���	������9:

P {X1 = k1, . . . ,Xr = kr} =
{

N !
k1!...kn!p

k1
1 . . . pkr

r �� k1 + . . . kr = N

0 �#���'���

X1 + · · · + Xr = N ����� � ����	�$� ������#

����

>� ���� ��D��!� � 	������� ������#��1 ���	�

P {X1 = k1} = N !
k1!(N−k1)!p

k1
1 (1 − p1)N−k1

P {X1 = k1,X2 = k2} = N !
k1!k2!(N−k1−k2)!

pk1
1 pk2

2 (1 − p1 − p2)N−k1−k2
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)��� ��
3���
���� � ����	�$� �	���������-���!��?��(� ����(������:

E [X1] = Np1

D2[X1] = Np1(1 − p1)
E [X1X2] = N(N − 1)p1p2

Cov [Xi,Xj ] = −Npipj

C������(#� � ��������� (����������1 �� �	��'' ����	�!��:

�X =

⎛⎜⎝ X1
���

Xr

⎞⎟⎠ , E
[

�X
]

= N

⎛⎜⎝ p1
���
pr

⎞⎟⎠ = N�p

V ar �X = E
[

�X �XT
]
− E

[
�X
]
E
[

�X
]T

=

= N

⎛⎜⎜⎜⎝
p1(1 − p1) −p1p2 . . . −p1pr

−p2p1 p2(1 − p2) . . . −p2pr
���

���
� � �

���
−prp1 −prp2 . . . pr(1 − pr)

⎞⎟⎟⎟⎠ .

K����(� ��� � �����D	� S := diag(p1, . . . , pr) − [pipj ]1≤i,j≤rN � ��������� ����-
���	����� ����� ����(�� �� �������	���!� ��	����� ����3����$:

ZN :=
1√
N

(
�X − E

[
�X
])

d→ N (0, S) .

)''�� ����������1 �	
� ∀A ∈ Rr×r �����D��

1√
N

A
(

�X − E
[

�X
])

d→ N(0, ASAT ).

.���������� A = diag( 1√
p1

, . . . 1√
pr

) ������ S = diag(p1, . . . , pr) − �p�pT �����
� ��$�����
���� � ��������� ����?:

ASA = I − (A�p) (A�p)T = I − aaT ,

��	� I �� �,������������D �� a =

⎛⎜⎝
√

p1
���√
pr

⎞⎟⎠ �� ������ aT a = 1�

F�
��� Yj := Xj−Npj√
Npj

N )��	� ‖Y ‖L2
=
∑r

j=1
(Xj−Npj)2

Npj
→ W TW 1 ��	� W ∼

N(0, I−aaT )� )� � ��������
 ��� �#

����� �	������ ��	�����	� ��
���������
��
�� I − aaT �����D��� � ��(�������� �� a ��(������	����1 ����� (I − aaT )a =
a − a = 0� )��� ���#� ���,�� v⊥a ����	��� aT v = 0 ����� (I − aaT )v =
v1 ���� ���� � ����	�	� �� 1 ��(���������� ����	�$ ��(������	�	�� J
� �� W

��$��������D�� ,��
	�������(!�1 ���	� UW =

⎛⎜⎜⎜⎜⎜⎝
1 0 . . . 0 0
0 1 . . . 0 0
���

���
� � �

���
���

0 0 . . . 1 0
0 0 . . . 0 0

⎞⎟⎟⎟⎟⎟⎠ ����? �����
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���� � W TW = W TUT UW �����D (n−1) ,' N(0, 1) ��	�����? �#

����� ����	�$
��
���������
�1 ����

r∑
j=1

(Xj − Npj)2

Npj

d→ χ2
r−1.

7�
(�
����#�1 �	
� � ��$'� ���	� �����������$ �����	����1 �� ���,��
����������'� ��
���'' 6 ��������� ����� )�������� ����'�� �������@ 	������	���
������	����

�������������
����

H0 : P {Ai} = pi

χ2 =
r∑

i=1

(ki − Npi)2

Npi
=

r∑
i=1

(��
+
���� − ����)2

����
d→ χ2

r−1,

��	� �� Ai ������� ki-���� ����������� '� 8��
+
���� �����91 �3
 ������$ ��-
���'�� Npi-���� ������� �	��� ����� ��������� 8����9�

>� �� � χ2 ��$'������������ ��� ������� ���� ���1 � �!�����	������ ���	
�,(!�1
��������� ����'�� ��!���3�(!�� )���� ��,��������� � ��
������ ���'�,��
� �	�?
χ2 ��	����� ��'������� �������(!�1 ������ � ��$'������������ �������	���!���
��	�	� ��	�����?�

&��,�:

)
� ,	'$�	������ 6��O��	� ,	'!��� �� ���,��������:

1 2 3 4 5 6
83 91 122 107 74 123

*��,��: .��'���	�-� � �	���M
7�
	�,��:

χ2 =
(83 − 100)2

100
+ · · · + (123 − 100)2

100
= 21, 08

�� 
 ���'�,��
� �	�? χ2 ��	����� ��'������'�� �1���-�� ������� ��1
1 �1���
-
�� ������� ��1� ��������1 3
� � �!�����	������ �1��� �� � ������� ��������� �	
�,(!�
���

5����� ��������!������
����

�� � ���,��1 �	
� ������� �
� ����� �,	�� ��	�����'$� ���������-�M

H0 : X ∼ F (x)

B������!�� Ai := {X ∈ Ci} �����������1 ��	� � Ci-� ,���(!��� ���������!-
�	�1 ������ !��$(� R N

&��,�:
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.�������@ ������$� ,����#� ��1 �	
� � ���������@ &	���	� ��	�����'$� ����-
�����-�N � �������	�� ���������1 �� � ����� ��	������ ���� ������:

A0 A1 A2 A3 A4

{X = 0} {X = 1} {X = 2} {X = 3} {X ≥ 4}
12 32 25 21 10

� ����� ��������� �!�����	����� �������� ���$��3�@��
��� ������� ����3����-
(!�:

A0 A1 A2 A3 A4

0, 135 0, 270 0, 270 0, 180 0, 145

χ2 =
(12 − 13, 5)2

13, 5
+ · · · + (10 − 14, 5)2

14, 5
≈ 3, 316.

� ������!� ����� ��,�
 �1%-�� ������� /1//� � �!�����	������ ���	
�,(!��

:�2������ ��������!������
����

� '�������� ��������,������
���� ����,��� �''�� �#���'���� � ������ ��������,��-
����
�����$�1 �	
� ��� �!,(!� �	��	���1 ������ ��	�������� �
������ ��
 �
�����1 ���� � ����������� ��	����� �,	��1 3
� ������� �
� ���������'������� ����
��
�����

H0 : P {X < t} = F (t; θ1, . . . θk)

�� r ����@ ����� ����(�� ������� � k ����������� �,!�� ��D��!� ������-
�		, '�������1 ��(, �
� ������ ��������,������
����	� ��
�#�� � ��������� �!��-
���	��������:

H
′
0 : P {X < t} = F (t; θ̂1, . . . , θ̂k)

)��	� �� �������� '�������� ����� �
∑r

j=1
(Xj−Npj)2

Npj
��$'������������ ������-

�	���!� ��	������ ���� r − k − 1 ���'�,��
� �	�? χ2 ��	����� ����N

*(

����
��
����
����

�,	�� ��� ���(�� ����������,����: A1, . . . , Ar �� B1, . . . , Bs� A����#�� ���$� �
���	��������1 �	
� ���,�� i-�� �� j-�� �� Ai �� Bj ��������� �#

�������N

H0 : P {Ai ∩ Bj} = P {Ai}P {Bj}

�������'�� � P {Ai} = pi �� � P {Bj} = qj ������� ��������1 �� �������	-
���!� �������	����� ���'�,��
� �	������ ����� rs − 1 �����

C�������� ����
���� ������ �
� ?�� �	����
�������'�����	� 3�!�� ���:
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B1 B2 . . . Bs
∑

A1 k1,1 k1,2 . . . k1,s k1,•
A2 k2,1 k2,2 . . . k2,s k2,•
���

���
���

� � �
���

���
Ar kr,1 kr,2 . . . kr,s kr,•∑

k•,1 k•,2 . . . k•,s N = k•,•

4�� ∀i ∈ {1, . . . , r} ,∀j ∈ {1, . . . , s} ki,j = # {Xl | Xl ∈ Ai ∩ Bj}1 ∀i ∈
{1, . . . , r} ki,• = # {Xl | Xl ∈ Ai}1 ∀j ∈ {1, . . . , s} k•,j = # {Xl | Xl ∈ Bj}�

� ��'����� ��
3���
���� � pi �� qj ���$��3�@��
���� � ki,•
N �� � k•,j

N ������-

��
����� '���#����(#�1 3
� � P {Ai ∩ Bj} ���� ������ N
ki,•
N

k•,j

N = ki,•k•,j

N �����
"���� � ��������� ������������ ���������!�:

χ2 =
r∑

i=1

s∑
j=1

(ki,j − ki,•k•,j

N )2
ki,•k•,j

N

→ χ2
���'�,��
� �	�

� ���'�,��
� �	�	� ����� ��,�
: rs− 1− (r − 1)− (s− 1) = (r − 1)(s− 1)1
����� � pi-� �� � qj-� ������ ��� �
�-�
� ���'�, ������#

�� 8

∑r
i=1 pi = 19�

>� ��� ���$��3�@��
� ����	�$ 8X,Y 9 �#

�������
��� ��
�!�� �3��������1 ��-
�	� �� ����������� � ���������� �������:

Ai = {ai−1 ≤ X < ai} i = 1, . . . , r
Bj = {bi−1 ≤ Y < bi} j = 1, . . . , s

&��,�:

)
� ������� ��� ����� ����(�� ����
��(!� ��
 � ���� �� � ��(��3� �#

�����-
��
��N

����� '���� ������
∑

��� ���� 42 28 3 73
'���� ���� 17 89 21 117∑

59 117 24 200

� χ2 ����������� ������  %1��1 � ���'�,��
� �	�	� ����� �1 ����� �� ��	�����-
��� � ������!� ������ ��
 α = 0, 001 ������ �� ��1�1 ���� �����(#� � �#

�������-

��1 � ��(- �� � ������3��� ������#

���N

�� ��� ���������"�#����	�" �����

� ��$'� ��	�����	� �
�������
���� �
��	������ ��	�
��� )��� ����'�� ��
��� �,	��
��� �����1 X1, . . . ,Xn �� Y1, . . . , Yn1 ������� �� F �� G ��	������#

����@ ��-
	�����	�'$� �����������

H0 : F = G
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H0 ������ F ∗
n(x) �� G∗

n(x) <�����= ��� �
�����	�1 �� � D+
n,n := F ∗

n(x)−G∗
n(x)

!
�$�#

���� ± 1
n !
���	����1 limx→±∞ D+

n,n = 0� 5��������1 �	
� �� !
���	�
��� ����� �
�'� 8�� � ���$��3�@��
@91 ���� 2n !
����	�� ����

*� �	
(!� ����3���� � ��������� ������� ���$��3�@��
��:{√
n

2
D+

n,n < z

}
=
{√

2n
√

n

2
D+

n,n <
√

2nz

}
.

)���� �	���������� ��������{
nD+

n,n ≥ �z
√

2n�
}

.

�� nD+
n,n = n (F ∗

n(x) − G∗
n(x)) �
���
������� �#

����1

� ��
��
�	'' 0-�$� ���$ ����������� ��	������� ����������
������	���� 7���� ������ ���� �� ������� ��D��!�� ��,�-
���1 3
� �� !
�$�#

����� ���������3����(#� �
� '	��	�
��-
���1 ����� � ��� �#

���� �!����!�� ��
�
������

*��,��#�� ����� ?
� �	
��������$ ��1 �	
� �� � ���$��3�@��
� �����1 �	
�
� (0, 0)-'$� ��,!�$ (2n, 0)-'� ������ �������	��� ������ � c ��������

�� ������ c ������� ������ �	��� ���-
��� 8��� c = �z√2n� ����9 �#������� �$,-
������� �����	��!� ��
� 7��,�� �	���
���� c ������� ������ �	��(� !���� ������
�#�����#� � c �������� )��	� �
� (0, 0)-
'$� ��,!�$ (2n, 2c)-'� ������ �������	��-
��� ���!��� 7��,�� c-� ������ ���� �3�!�? �������	���'$� ����!�� �
� �����
�
�������@��1 �� �������#��������� ���,�
���'�� �
�������@�� ������������(!�
�� ���,����1 ����� � (0, 0)-'$� ��,!�$ (2n, 0)-'� ������ c-� ������ �������	�����
����� ��
�
����� � (0, 0)-'$� ��,!�$ (2n, 2c)-'� ������ �������	����� ���������

�� ������ ���������� �	��� �����:
(
2n
n

)
�

� ���������� c-� ������ �������	����� �����:
( 2n
n−c

)
�

P
{√

n

2
sup (F ∗

n(x) − G∗
n(x)) < z

}
=

⎧⎪⎪⎨⎪⎪⎩
0 �� 0 ≥ z

1 −
⌊

( 2n
n−c)
(2n

n )

⌋
�� 0 < z ≤ √

n
2

1 �� z >
√

n
2

( 2n
n−c

)(
2n
n

) =
(2n)!

(n − c)!(n + c)!
/
(2n)!
n!n!

=
n!n!

(n − c)!(n + c)!
≈

2πn
(

n
e

)2n√
2π(n − c)

(
n−c

e

)n−c√2π(n + c)
(

n+c
e

)n+c =

n√
n2 − c2

n2n

(n − c)n−c(n + c)n+c
=

n√
n2 − c2

n2n

(n2 − c2)n−c(n + c)2c
=
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n√
n2 − c2

(
n2

n2 − c2

)n−c(
n

n + c

)2c

=√(
1 +

c2

n2 − c2

)(
1 +

c2

n2 − c2

)n−c(
1 − c

n + c

)2c
c≈z

√
2n≈

√(
1 +

2z2

n − 2z2

)(
1 +

2z2

n − 2z2

)n−z
√

2n
(

1 − z
√

2n
n + z

√
2n

)2z
√

2n
n→∞−→

→ e2z2
e−4z2

= e−2z2

"���� n → ∞ ������ '�������$1 �	
� � P
{√

n
2 sup (F ∗

n(x) − G∗
n(x)) < z

}
��
��3� z-��� 0 �	���3����� ��,�
 �������	���!��� 1 − e−2z2

� B��$(�'�� � ��-
���������� ��	������#

������ �#���'��
���� �'��	�?�������� ��	��!� �����1 ��
����� �!����!��� ����3�(!�� )���� �������	���!� ��	������� �
� ($��� '	��	-
�!���'' �	,��� ��
3���
���� ������(!�:

P
{√

n

2
sup |F ∗

n(x) − G∗
n(x)| < z

}
→ K(z) =

∞∑
k=−∞

(−1)ke−2k2z2
,

��	� �� ��� ,�+����� K(z) �#

����� *	��	
	�	� �#

������� �3�(!��

*#���'��� ��������? ������ 8n �� m9 ������ �
√

n
2 �������

√
mn

m+n ������-

���,$�

)
������� ��$'�'�� � ������ �
� ������ ��	����� ��	������#

�������� ��-
�	��3�(!�� )��	� �� �
��1 �	
�

Dn := sup |F ∗
n(x) − F (x)|

P
{√

nDn < z
}→ K(z)




� �������

���	���� ���	��	�

���� '������
���- ���������"

*�� ����	�$ ������� ������#

�� ������3���� � ��
+
���� ������� ����(��

Cov [X,Y ] = E [(X − E [X])(Y − E [Y ])] = E [XY ] − E [X] E [Y ]

>� Cov [X,Y ] = 01 ���	� � ��� ����	�$� �	�������������� ������#�� >� ���
�
�#������ �	������ ����	�$ �	�����������1 ���	� �#

������� ���

� �	�������$� ��,�
 � ��������������� ,�+����(!�:

ρ(X,Y ) :=
Cov [X,Y ]
D(X)D(Y )

�� E [X] = E [Y ] = 0 ��������� ����'�� ρ(X,Y ) = E[XY ]√
E[X2]E[Y 2]

� ;�!���-C!����	�����(-.��P��� �
�����������
 ����� '������ ��� ����	�$
�	�������$� �
�#�����$(� �'��	�?������'�� ����'' 1-���� >� ��,�
 |ρ(X,Y )| = 11
���	� Y = aX + b� >� ����	�� |ρ(X,Y )| 
= 11 ���	� �� ����� Y ≈ aX + b�

*�� ����� ������������ �	�������$� �
�#�����$(�� � ��������������� ����	�-
(!�:

r =
∑n

i=1(Xi − X̄)(Yi − Ȳ )√∑n
i=1(Xi − X̄)2

∑n
i=1(Yi − Ȳ )2

��������	����1 �	��� ��
�����3���

���� .�	������"���
/���

 ����� ������
� ����������

)������� 8��������9 ��
������$� ����,��: �,	�� X �� Y ���$��3�@��
� ����	�$�1 ���-
������ ��������������1 �	
� ����� ���������� �#

��� �
�����$�� *�����#� ��
 �
���������� ������������N

�/
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‖Y − (aX + b)‖2 a,b=?−−−→ min

�� �������	� ��
������$� ����,��'�� ��,�
 ��� �� f �#

����� 8��
������$�

��'�9 ������#�1 ����� �����������(� � E

[
(Y − f(X))2

]
��������
�� 8��
����''

��
������ �$,�����9�

E
[
(Y − f(X))2

]
=
∫ ∫

R2

[y − f(x)]2 h(x, y)dxdy,

��	� h(x, y) �� �
�#���� �@�@��
�#

����� )���� ��
	�,��� �� E [Y |X] ���-
������� ������$ ����� ����1 �����:

E
[
(Y − f(X))2

]
= E

[
[(Y − E [Y |X]) + (E [Y |X] − f(X))]2

]
=

= E
[
[Y − E [Y |X]]2

]
+ E

[
[E [Y |X] − f(X)]2

]
+

+2E [(Y − E [Y |X]) (E [Y |X] − f(X))] =

= E
[
[Y − E [Y |X]]2

]
+ E

[
[E [Y |X] − f(X)]2

]
1 ����

E [(Y − E [Y |X]) (E [Y |X] − f(X))] =

E [E [(Y − E [Y |X]) (E [Y |X] − f(X)) |X]] =

E [(E [Y |X] − E [Y |X]) (E [Y |X] − E [f(X)|X])] = 0

"���� � ����� ����(���� � �����!��� ��� � ���������� ������$ ����� ������
����� ���1 ���� � ��
������$� 
��
�

f(x) = E [Y |X = x] =

∫
R

yh(x, y)dy∫
R

h(x, y)dy

H�����'�� ��� � ��
������$� 
��'�� ���������3�(#� � ��
(	''�� �����3�� �
��-
�������

>� �� (X,Y ) ���$��3�@��
� ����	�$ �!����	������ ��	�����?1 ���	� � ��
-
������$� 
��'� �
� �
����� ����1 !
����� �	����!�����!�� �
� X-��� �#

����� Q
���$��3�@��
� ����	�$� � ��������� �$,	�:

F�
��� Z(k) := (Y − E [Y ]) + k(X − E [X]) N Z(k) ���,�� k-�� 0 ������$
�����@1 ,� ��(	� �������-� 	���� �1 ������� �#

����� X-���M

Cov [Z(k),X] = E [(Z(k) − 0)(X − E [X])] = E [(X − E [X])(Y − E [Y ])] +

+kE
[
(X − E [X])2

]
= Cov [X,Y ] + kD2(X),

����� ����(���� �	��	��� ���	� 01 ��

k =
−Cov [X,Y ]

D2(X)
1 3
�
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0 = E [Z] = E [Z|X = x] = E [Y |X = x] − E [Y ] − Cov [X,Y ]
D2(X)

(x − E [X]).

)� � ������ ��
�,(� � E [Y |X = x] � ��
������$� 
��'� �
��������1 ��� �
�
�
������

 ����� $�����
���
� ����������

�,	�� (X,Y ) n ����@ ������ )��� ������������ �	�������$(�

ρX,Y =
∑n

i=1(Xi − X̄)(Yi − Ȳ )√∑n
i=1(Xi − X̄)

∑n
i=1(Yi − Ȳ )

�� 	������������ ����
���� !��� ���	�� ������������ ��
������$� �
����� �-

������� ����� ��
3���
���� 3����$ ���:

y − Ȳ

sY
= ρX,Y

x − X̄

sX

 ����� %��&����� �������&��

*�� ���$��3�@��
� ����	�$ ��������� �	�������$(� �� � ����1 ����� ��
�!���(�
� ��� ���$��3�@��
� ����	�$ ������#

������ �������� �������� ��� ����	�$8�9
��������� ����@���� !����

&��,�!� � ���$� ����'�� ��� ���������(!�1 �	
� � ������
����
 �� � ��(�	���
������ ��
��3��� �	������� �� ��'�������1 ��� ���� ��� � ��� ��������
�� +-

�����'� ���� ��� ��,	�	����$� � (������
 	�� ��1 �	
� � ���+�� ������'��
��
���''��1 �� ����, ��(!� ���1 � ��� ��,�
 ������'�� �����	���''�� �	���?
��((��� "���� � �����,�� ���$��3�@��
� ����	�$ 8� ���9 	�	��� � ��
� ��
�-
�3� �	�������$�1 ����� ������� ����@��� � ��������� �	�������$ ��� ��� ���� �����
��������
���

�,	�� X1, . . . ,Xn ���$��3�@��
� ����	�$� ������ ρi,j•k1,...,kl
-��� (����(#� �� �� i.

�� � j. ��������� �	�������$(��1 �� �� Xk1 , . . . ,Xkl
���$��3�@��
� ����	�$� �������

����3�(!� ���
*�����3�����	� ���$(�'�� �� ��������1 �	
� �� Xi-� �� �� Xj-� �����3�(#�

�� Xk1 , . . . ,Xkl
����� ������3���� ������� 8��
������$91 �� �� 3
� ���	�� ����	�$�

8������9 �	�������$(�� ����3�(!��
)
� ���$��3�@��
� ����	�$ ��������� ����@�����	� �������� ��
������$� ���� ��-


����1 ����� ���,����� �
�����@ ����'�� � ��������������� 3����$:

ρi,j•k =
ρi,j − ρi,kρj,k√

(1 − ρ2
i,k)(1 − ρ2

j,k)
.

4
�� �	��''� � ��������� ��� �	��!��:

ρi,j•k,l =
ρi,j•k − ρi,k•lρj,k•l√
(1 − ρ2

i,k•l)(1 − ρ2
j,k•l)

.
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�	''��	�	� �	�-
������	

 ��� � $'��"��
���� ����������

�� Y ���$��3�@��
� ����	�$� ����
��(!� ������ X1, . . . ,Xk 8?�� ����	�9 �#

-
�����'��1 ���� Y = f(X1, . . . ,Xk)� )�� ���������� � y = Xβ + ε �
���������
�����3�(#�1 ��	� y ∈ Rn �
� n ����@ �����1 X ∈ Rn×Rp �����D 8n � p91 �����-
��� ���� 	���	�� ��!�� �
���'�� ���1 ��''� 	���	�� � ����	�	� ��
+
���� ��������
�����������1 ε � ��(����	�1 ���!�� ��,�
 � ����	�	� �?������1 � β ����	����
	�������� ��
�����	�����

‖ε‖2 = (y − Xβ)T (y − Xβ) = (yT − βT XT )(y − Xβ) =

yT y − βT XT y − yT Xβ + βT XT Xβ = yT y − 2βT XT y + βT XT Xβ → min

)���� ��
	�,���� ������������� ����	� �������� ,������� �	���(�'� 3����(!�:

∂εT ε

∂β
= −2XT y + 2XT Xβ = 0.

4�� ���������!� � ����	� �������� ,�������� ��������� ���'������:

∂

∂v
Mv = MT ,

∂

∂v
vT Sv = 2Sv1 ��	� S ����������!� �����D�

)��� ��
3���
���� ������$ ��
 �� ?� �	�����
���������,����:

XT Xβ = XT y.

.���������� �
� ����	�$ ������ � ������������ ���(!�:

yi = β0 + β1xi + εi1 ����⎛⎜⎝ y1
���

yn

⎞⎟⎠ =

⎛⎜⎝ 1 x1
���

���
1 xn

⎞⎟⎠( β1

β2

)
.

XT X =
(

1 1 . . . 1
x1 x2 . . . xn

)⎛⎜⎝ 1 x1
���

���
1 xn

⎞⎟⎠ =
(

n nx̄
−nx̄

∑n
i=1 x2

i

)

(
XT X

)−1
=

1
n
(∑n

i=1 x2
i − nx̄2

) ( ∑n
i=1 x2

i −nx̄
nx̄ n

)
.

)��� ��
3���
���� � ��
����'' ��
������ �����3��� � �	�����
���������,����-
'�� ����3����$:



B�E� ����>���������  �

β̂ =
(
XT X

)−1
XT y =

1
n
(∑n

i=1 x2
i − nx̄2

) ( ∑n
i=1 x2

i −nx̄
nx̄ n

)
·

·
(

nȳ∑n
i=1 xiyi

)
=

1
n
(∑n

i=1 x2
i − nx̄2

) ( ȳ
∑n

i=1 x2
i − x̄

∑n
i=1 xiyi

−nx̄ȳ +
∑n

i=1 xiyi

)
)� ����� �
� �������	� �������� �	,���1 ����� �� y ����	� � β ����	� �����D-

��	�������� ����(�������

���� +�"����
��/���

;��!�� �	�� '��	��	� �������� ��������� ����
����� � ��$��� ��	�	�3���� ��-
���� � �#���'��� ����	�	���� 8� �3������ ����������� '��	����	�$ �����������9
�����(��� ������1 ������� ������
� �� ��������
� (���������� (���������1 � ���-
,�� ��,�
 ��1 �	
� ���
��+����-� � ����	� ������ �� �,��	���M

�� �
��������� �	,���'�� p ,���' �	����
 ���1 �� i. ������ �''�� ��
��� ni1
n =

∑p
i=1 ni1 �������� (����(� Yi,j �� i. �	����
 j. ������ 8i = 1 . . . p1 j = 1 . . . ni9N

5�������#�� ������� ���	� Yi,j = βi + ei,j 1 ��	� ei,j ∼ N(0, σ2) ��'���
� ��'�� 	�� ����� � ��������� '��#�� ��
�,	��� 8�� �,	�� ����	��$� �#

�����#�9

��
� ��1 �	
� � ����	� ���
��+�����
A�+����(!� � βi-� ��������� � ���(�� ����
�$�:

βi = μ + αi1 ��	� μ =
1
n

p∑
i=1

niβi1 ����

Yi,j = μ + αi + ei,j

0!�����	�����#�� ��1 �	
� � ����	���� ����� ������1 ����

H0 : β1 = · · · = βp = μ1 ��
��� α1 = · · · = αp = 0

�� ����
	��� � ��	���	� �$,	� (����(#�:

Ȳ•,• :=
1
n

p∑
i=1

ni∑
j=1

Yi,j,

Ȳi,• :=
1
ni

ni∑
j=1

Yi,j.

7	�� .������ ������� ���������!�:

Q :=
p∑

i=1

ni∑
j=1

(
Yi,j − Ȳ•,•

)2 =
p∑

i=1

ni∑
j=1

(
Yi,j − Ȳi,•

)2
︸ ︷︷ ︸

Qcsb

+



 � B� �������� ����>��� ��K����


+
p∑

i=1

ni∑
j=1

(
Ȳi,• − Ȳ•,•

)2
︸ ︷︷ ︸
=
∑p

i=1 ni(Ȳi,•−Ȳ•,•)2
=Qcsk

= Qcsb + Qcsk1 ��	�

Qcsk � ��	�	��	� �������1 �� Qcsb � ��	�	��	�	� '��#�� ��
���������
��1 �����

Q =
p∑

i=1

ni∑
j=1

Y 2
i,j − nȲ•,•.

� '���� ��
���������
 (n−p)1 � �#��� ��
���������
 (p−1) ���'�,��
� �	�?1
3
� �� �����
 ���'�,��
� �	������ ����� (n − 1)�

�����) >� �� X1, . . . ,Xn ���$��3�@��
� ����	�$� �#

�������1 �� E [Xi] =
μi �������� D2[Xi] = σ21 ���	� E

[
(Xi − X̄)2

]
= (μi − μ)2 + n−1

n σ21 ��	�
μ̄ = 1

n

∑n
i=1 μ�

�� ���3��� � ��������� ��� �
�������
 �����������'�� ����������:

E
[
(Xi − X̄)2

]
=
(
E
[
Xi − X̄

])2︸ ︷︷ ︸
(μi−μ̄)2

+D2(Xi − X̄)

D2(Xi − X̄) = D2(Xi) + D2(X̄) − 2Cov
[
Xi, X̄

]
=

= σ2 +
σ2

n
− 2

1
n

σ2 =
n − 1

n
σ2

) �������� �������������1 �	
� Qcsb
n−p �	��3������ '������ σ2-��1 �����

E [Qcsb] = E

⎡⎣ p∑
i=1

ni∑
j=1

(
Yi,j − Ȳi,•

)2⎤⎦ =
p∑

i=1

ni∑
j=1

(
0 +

ni − 1
ni

σ2

)
=

=
p∑

i=1

(ni − 1)σ2 = (n − p)σ2.

"	��''� � ��	�	��	� ������� ��
���������
��:

E [Qcsk] =
p∑

i=1

ni∑
j=1

E
[
(Ȳi,• − Ȳ•,•)2

]
=

=
p∑

i=1

ni∑
j=1

(
(E
[
Ȳi,•
]− E

[
Ȳ•,•
]
)2 +

p − 1
p

D2Ȳi,•
)

=

=
p∑

i=1

ni∑
j=1

(
α2

i +
p − 1

p

σ2

ni

)
=

p∑
i=1

niα
2
i + (p − 1)σ2

J
� �� α1 = · · · = αp = 0 �!�����	����� ������� Qcsk
p−1 �� �	��3������ '�������

σ2-���� "���� H0 ������� Qcsk
p−1 �� Qcsb

n−p ��� �#

����� χ2
n−p �� χ2

p−1 ��	�����?�����
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������������ "���� � ����� �����,	�� Fp−1,n−p ��	�����? ����1 ��� �������(!�
��$'����������������

&��,�: ��
� �#���'��� '?����(��� ������#��1 ���,�
��� ��(��'$� ��-�� ���-
���������� ��������� ��


�� �,��	�p = 41 ni = 101 F3,36 ������!� ������ %
L-	� ���/�
>� H0-� �����(#�1 ���	� �,(!�� '������� αi-���N � ���� �	��'��������� (	''

�� ���������!�'������:
"!,(!�: S2

csb = Qcsb
n−p �� Qcsb ��	������ χ2

n−p �������� �� �#

����� Ȳi,•-���1

���� Qcsb =
∑p

i=1

∑ni
j=1

(
Yi,j − Ȳi,•

)2
�� Ȳi,• �#

�����

∑ni
j=1

(
Yi,j − Ȳi,•

)2
-���

85�����-C�������9� ���� ��
�����3����$1 �	
�

Ȳi,• − αi

Scsb
∼ tn−p1 ����

P
{
−tn−p(α/2) ≤ Ȳi,• − αi

Scsb
≤ tn−p(α/2)

}
= 1 − α
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�� �������

��������

���� ������	��
��- )�(
/��"�

� �	��''���'�� 	���� �	������	��� ����
��!��1 ���������� X1, . . . ,Xn ��� �#
-

�����1 ��	�	� ��	�����? ����	�$��

��� 3�4
	2��� ��
�� !���
���� ���������� Xt : t ∈ T
t1, . . . , tn ∈ T : (Xt1 , . . . ,Xtn)
P {Xt1 < x1, . . . ,Xtn < xn}
P {(Xt1 , . . . ,Xtn) ∈ B} , B ∈ Rn

�C� 5���� 61����
� ��7� 6( (���� '.%1+ �/�1��/*+ 1)�+�)0+�"�(" 1%& "��;
A(�/3/)/+ 21��+�121# (""�2 ).�1�/" 1%& '()*+�,�-+.%/ �1�< .+ (��� 1%& +���H$(+�;
�/"!+ 7�)&(�(�# (�1)&�1" A��� 1�1" ( '.%1+ �/�1��/*+ 1)�+�)0+(/ 4'(%&/+ '.%1+
�/�1��/*+ 1)�+�)0+(/ �1%$(�02���0" ( 7�)&(�(���5�

��� 3�4
	2��� =�;�� ���%���� �""�2 �1'1�8�" 1%& 7�)&(�(��� E�!�� �	���-
����("# $( �/��1� '.%1+ �/�1��/*+ 1)�+�)0+( ��2�0)/+�

!����� (����)*��+���� �
���
,���

�� ��
�� ���,@ 7���	�-� ������#

��

�� �������	� ����/
��
	� : E [Xn+1|X1, . . . ,Xn] = Xn

�� 
����������	


��� 3�4
	2��� ' #� ���2��
� ���� �%& +���H$(+��/"!+ 7�)&(�(��� (""�2 �1;
'1�8�" ������ �����	����!��(" $(

∀t1, . . . , tn, s : (Xt1 , . . . ,Xtn) d= (Xt1+s, . . . ,Xtn+s)

��� 3�4
	2��� =%�

� ���2��
� ���� �%& +���H$(+��/"!+ 7�)&(�(��� (""�2
�1'1�8�" 
���
�� �����	����!��(" $(

�� ∀t : E [Xt] = E [X1]

=� Cov(Xt,Xs) = γ(t − s)

� γ 78%%'.�&� ( 7�)&(�(� �!�	�	��������� 78%%'.�&.�1" �1'1��8"�
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!����� -� ��
���"����	&�� )*��"�	� .γ/ 
���0
�	�����

�� γ(0) = D2[Xt] ≥ 0 8�� �������9

�� |γ(h)| ≤ γ(0)

C��	��3���: ;�!���-.��P����: 〈a, b〉2 ≤ ||a||2 ||b||2�

γ(h) = Cov(Xt,Xt+h)
|Cov(Xt,Xt+h)|2 ≤ D2[Xt]D2[Xt+h]

�� γ(h) = γ(−h)1 ∀h ∈ Z

 � �	���3� �����,�+���

��� 3�4
	2�� 6B����	� +����!�4
��7� �� M ∈ Rn×n �0�2/L �	���3� �����-
,�+��� $( ∀a ∈ Rn 1+1�.� aT Ma ≥ 0�

6( 1%& 1%.+� +�0��"�� .2�1)�1�1�� u 78%%'.�&21 /%(�# (�# $�%& ∀t1, . . . , tn ∈
Z 1+1�.� ( [u(ti − tj)]1≤i≤n,1≤j≤n �0�2/L A��/�,' +�1�/�1I�/� (""�2 ( 78%%'.�&�
�	���3� �����,�+����1" �1'1��8"�

��� 5����� 	&1�%.� +�(H/��02/!+ 7�)&(�(� (!�"�'(2/(�H/( 78%%'.�&1 A��/�,' +�1;
�/�1I�/��

��������	
� F�
��� Z := (Xt1 − E [X] ,Xt2 − E [X] , . . . ,Xtn − E [X])T �
"!,(!�1 �	
� E [Z] = 01 ����� ∀a ∈ Rn: E

[
aT Z

]
= 0� )����:

D2[aT Z] = E
[
aT ZaT Z

]
.

7���� aT Z �
� ������1 ����� �
����� ����
� �������	����(����1 3
�:

D2[aT Z] = E
[
aT ZZT a

]
= aT E

[
ZZT

]
a.

� ZZT �����D �
� 	���� 8,��,��!�9 �����D ������� i1j-�,�� ����� (Xti −
E [X])(Xtj −E [X])1 3
� �� E

[
ZZT

]
�����D i1j-�,�� ����� E [Xti − E [X]] (Xtj −

E [X]) = γ(ti − tj)� "!,(!� ��	�'��1 �	
� ����� D2[aT Z] �
� ���$��3�@��
� ���-
�	�$ ��$����� (����� ����� ��� ����� ��
��3�1 3
� ∀a ∈ Zn:

0 ≤ D2[aT Z] = aT E
[
ZZT

]
a.

B�
��� �� E
[
ZZt

]
�����D �	���3� �����,�+��� �� 3
� � γ �#

���� ���

��� 5���� 6�� 
����7� �1%&1� X1, . . . ,Xn, . . . "��A)1L .2�."- +�(H/��12 7�)&(;
�(� γ(h) = Cov(Xt, ¯Xt+h) (!��"�'(2/(�H/(;78%%'.��&1)� �""�2

γ(h) =
∫ π

−π
eihνdF (ν),

($�) F (ν) ( +A1"�20)78%%'.�&# (�1)&21 /%(�# $�%& F (−π) = 0#  �332*) 7�)&����+#
"�2)0��+�



D�=� �K?����
 ����������>G����  /

���� 0)������ ���
�����
���"%�

*�������!� ,��	��	�3��$:

Xt = mt + Δt + Yt,

��	�

mt) ����,1 ������ ����	�$ ,�������������!�1

Δt) ����	�������1 ����	,��!� �#

����1

Yt) �����	����!� �	�������

!����� 1�	&� �����
���� �����	�	�

*���,!�!�� �
� ������ ����,�#

����'��: mt = a+ bt� � ������ ����(�� a-�1 ��
b-� ?
� �����	��!� ��
1 �	
� �

∑n
t=1[Xt−(a+bt)]2 ��
������ ������� ���������

��
����

-��
� ����
�� ���	��� 6����

 ��� �
� �����,�

7

Wt = 1
2q+1

∑q
j=−q Xt+j � ���3�	�� �	�������

Xt → 1
2q+1

∑q
j=−q mt+j + 1

2q+1

∑q
j=−q Yt+j

≈ mt ≈ 0

Wt = m̂t � ����, '�������1 �������1 �� �� ����	��
N Ŷt = Xt − m̂t�

'D��
�
2����� ���	��� 6�D��
�
���� �����,�

7

F�
��� a ∈ (0, 1)�

m̂1 := X1

m̂t := aXt + (1 − a)m̂t−1

m̂t =
t−2∑
j=0

a(1 − a)jXt−j + (1 − a)tX1

1(�9
0��
������ 6!�E� �
2�

7

A�+����(!� � �#���'��
����� 8,�R�������
1 ∇91 ������� '���P��, ����� 8B9 	��-
���	�	��� � ���������������:

B : RZ �→ RZ, BXt = Xt−1,

�������

∇ : RZ �→ RZ,∇ = 1 − B

∇Xt = (1 − B)Xt = Xt − Xt−1
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)��� ����������������: ∇(at+b) = a1 ������� �������� mt(= at+b) ����, �����
∇(mt + Yt) = a + ∇Yt�

>��	��$���� ,�+�������(!� � ∇k 	�����	�� ��:

∇k = (1 − B)k = 1 − kB + k(k − 1)B2 + · · · + (−B)k.

&��,�!� : ∇2Xh = Xh − 2Xh−1 + Xh−21 �������: ∇k(akt
k + · · · + a0) = k!ak�

!����� $��	
 �� �����	���
��

����F � �
!

F�
���
Xj,k = Yk+12(j−1),

��	� j (��������� ��� �� ���� �� k � �$���	�� 5�������#�1 �	
� �
� ���� '��#� �
����, �	������: mj�

m̂j :=
1
12

12∑
k=1

Xj,k.

.���	������� '�������:

ŝk :=
1
20

20∑
j=1

(Xj,k − m̂j).

12∑
k=1

ŝk = 0

� ����	������� ����$,!��� ������#�� ����N )���� ��
�����	�����	� ����-
������(!� ���,�!� � ����	,	
��� �$,���������

-��
� ����
�� ���	���

"���, 8m̂t9 '�������:

m̂t =

{
1

2q+1

∑q
i=−q Xt+i : d = 2q + 1

1
2q (0.5(Xt−q + Xt+q) +

∑q−1
i=−q+1 Xt+i) : d = 2q

∇dXt := Xt − Xt−d = Xt − BdXt = (1 − Bd)Xt

����  ����������� �����������
��� �� �������������"

�,	�� �
� n ����@ ������ )��	� � ��(�
������� ��������������� )*������� �
��������������� ,�+����(!� :

γ̂(h) :=
1
n

n−h∑
j=1

(Xj+h − X̄)(Xj − X̄), 8
��9

��	� X̄ (����� � ���������
	��



D�B� ���G�>��� �C��
�������G�� �M		���
  %

C��	��3����$1 �	
� �� 3
� ,�+����� �������!� �!�	�	��������� ��
	�'$� ���-
���� Σ = [γ̂(i− j)]1≤i,j≤n �����D �	���3� �����,�+���� �������'�� � 
�� �
���-
���'�� n ������� (n−r)-��� �	��������1 ?
� � ���	�� �������!� �!�	�	���������
�����D�� �� ��� ���(��#����

>��	��$���� �����������(#� �� ��(����
 ����������	�� 
 )*������� ��:

ρ̂(h) :=
γ̂(h)
γ̂(0)

.

C	D �� K������ �������'���� ������� n ≥ 50 �� h ≤ n/4 ������ ��� ������� ��
�,��	� ����3������� �	
����	����

5	��	� ��
(�
�����1 �	
� �� �������!� �!�	�	��������� ���� �!�	�	�������$
�#

�������� ���-�����	����!� ����'�� �� �� �!,(!� ����3����1 ����� � ���	��
���,������ �������������� ��� +
�����'� ���� ������

>� ���,�!� ρ̂(h) �#

���� ������
��� ����?1 ��������#

���� (����
@1 �� ��
���� �#

�� ������� (��������� ����? ,�������������!� ����, (��������� ���

�������'�� � �	������'�� ����	������� ��� (���� �� � ρ̂(h) ����	,��������
���,��������

���� #�������� �����������
��� �!		��
�

α(1) = Cov(X1,X2)
α(h) = Cov(X1 − E [X1|X2, . . . ,Xh] ,Xh+1 − E [Xh+1|X2, . . . ,Xh])

α(k) =
det R∗

k

det Rk
,

��	� Rk �� �!�	�	�������$ �����D1 Rk = [ρ(i− j)]1≤i,j≤k1 R∗
k-� ��,�
 ?
� ���(!�

Rk-'$�1 �	
� ����� !�	��$ �	��� � [ρ1, . . . , ρk] ����	��� �����(#��

���� 1���� ��%

�&� 3�4
	2��� *�,� ��$ 5���� ��(�(" $,' !"# .+ N�(0, σ2);�1)  1):) 8" (��"(�
( 7�)&(�(��"(�# �1)&21

γ(k) =
{

σ2, k = 0
0, k 
= 0

� ����� ��( ���������#

����� �	�������

f(λ) =
σ2

2π
, λ ∈ [−π, π]

��2� 3��	"����	 43�5 �����
����

��� 3�4
	2��� -��
� ����
 ���%���� �""�2 �1'1�8�" 1%& Xt 7�)&(�(���
�	�
$ ����
 �	�������(" $( 71),2$(�*

Xt = Θ0et + Θ1et−1 + · · · + Θqet−q

()("3(�# ($�) et ∼ N�(0, 1) 71$.2 �( # Θi, 0 ≤ i ≤ q A1�/% "��+�(�+�"�
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Xt �� et ������� ������#

��� ���3����(!� � B '�������� 	�����	� ��
3����
����:

Xt = Θ0et + Θ1Bet + · · · + ΘqB
qet

= (Θ0 + Θ1B + · · · + ΘqB
q)et

5	�������� ,�+�������(!� � Θ(z) �	���	�	� � �������������: Θ(z) := Θ0 +
Θ1z + · · · + Θqz

q � )���� � (���������:

Xt = Θ(B)et

�� ��
�'�� ���������� ������� �
� n ����	�$� �	���	���� �	��	��� n ,���' ���
���������#� �#���'��� 
���� ���� )���� ����(�� ���3����(!� Θ(z) 
�����������
����(��:

Θ(z) = Θq

q∏
i=1

(z − zi).

E [Xres] =
{

Θr−s : r − q ≤ s ≤ r
0 : �#���'��

E [Xt+kXt] = E

[
Xt+k

q∑
i=0

Θiet−i

]
=

q∑
i=0

ΘiE[Xt+ket−i] =
q−k∑
i=0

ΘiΘk+i

7���� E [Xt+kXt] t-��� ���1 ���� k-�$� �#

1 ����� Xt 
���
�� �����	����!�1 ��
�� �!�	�	��������� �#

�����:

γ(k) =
{ ∑q−k

i=0 ΘiΘk+i : k ≤ q
0 : k > q

8
��9

�� ����� �
������'�� ����(���#� γ(k) ������� � Θi ������� ��
3���
����� 5��-
����,�� � ���,��1 �	
� �����-� !
������ ����������1 ������� �� ����� � ���������1
�	
� �,	�� γ(k)1 k = 01112 . . . , q �!�	�	��������� �#

������� ���������� � 
��
�
�������� �����
3�� Θi ��������

B�
��� � ���,��: �,	�� γ(k)1 k = 01112, . . . , q ������ ��
	�,���$-� γ(k) =
b0bk + b1bk+1 + . . . + bg−kbq1 k = 01112, . . . , q �
���������,�����

� ������ ��,�
1 �	
� � ��
	�,���$��
 ���������1 �	
� �

Γ(s) := γ(0) +
q∑

k=1

γ(k)(sk + s−k)

�#

������� �� �� |s| = 1 �
���
����� ���� ���	� �!�����������? 
����� ��
������

��6� ������	�����/� 4�.5 �����
����

�>� 3�4
	2��� �;�� �
 ����	� ���%������ �""�2 �1'1�8�" 1%& 4Xt5 7�)&(;
�(��� �!�	��
�����3��1"# $( 71),2$(�*

Xt = Φ1Xt−1 + · · · + ΦpXt−p + et

()("3(�# ($�) et 71$.2 �( �

� �	�
$ ����
 �	������	���� ,�+����� Θ �#

������� ���	��$�� ,�+�������(!�
� Φ(z) := Φ0 + Φ1z + · · · + Φpz

p �	���	�	�� J
�

Φ(B)Xt = et.



D�O� �C����	������� 4��5 ���
�����
 
�

!�2��� %��
�3 -4.�/ )������


Xt := ΛXt−1 + et = et + Λ(ΛXt−2 + et−1) =
k∑

j=0

Λjet−j + Λk+1Xt−k−1

∣∣∣∣∣∣
∣∣∣∣∣∣Xt −

k∑
j=0

Λjet−j

∣∣∣∣∣∣
∣∣∣∣∣∣
2

= Λ2(k+1) ||Xt−k−1||2 → 0

�� |Λ| < 1� )''�� �� ����'�� ��� �	�,(!�1 �	
� �� �2 �	������ ����	��
�
)''�� �� ����'�� ���3����(!� �� Xt-�

Xt =
∞∑

j=0

Λjet−j

����'�� ��1 ��� �
� 7�8∞9 �	��������� ����� ��
� )�� ������#� �� �28�9
�	������ ��!����� 7�8∞9 ������3��������

G���������(#�1 �	
� �������'�� �� �28�9 �	������ ��!�����1 ���� �������
7�8∞9 ������3����1 ���	� �

Φ(z) = 1 − Λz

�	���	���� �� �
��,#�� 
���� �� �
���
����� �3�#� ��������,�� ��� H������	�-
��
'�� �� �
�� � ���������

��� 5����� �%& ��4A5 7�)&(�(��(" (""�2 .+ H+(" (""�2 ).�1�/" "(!�0)/+ ��4∞5
1)<0)),�0+( $( ( Φ(z) = 0 1%&1�)1��1" �/�H+1� ( |z| ≤ 1 1%&+.%":2:� 31)8) %&:"1�

"������#� �	�� ��� �� ������ ����	� |Λ| > 1N

Xt+1 = ΛXt + et+1

Xt =
1
λ

Xt+1 − 1
Λ

et+1 =

= −
k∑

j=1

1
Λj

et+j +
1
Λ

xt+k

|Λ| > 1 ������

Xt = −
∞∑

j=1

1
Λj

et+j

B�
��� |Λ| > 1 ������ �� ������� 7�8∞9 ������3���1 �� ��	�'�� ��� ��!������
�28�9 �	������	� �!�	�	��������� - �#

������ ������� ����(�����(#� ��

7�8∞9 ������3���!� ��
3���
�����

Cov(Xt+h,Xt) = lim
n→∞E

⎡⎣ n∑
j=0

Λjet+k−j

n∑
k=0

Λket−k

⎤⎦ = Λh
∞∑

j=0

Λ2j =
Λh

1 − Λ2
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!�2��� 5����6����� ����	��
��

Xt = Φ1Xt−1 + · · · + ΦpXt−p + et

Xt−kXt = Φ1Xt−kXt−1 + · · · + ΦpXt−kXt−p + Xt−ket

γ(k) = E [Xt−kXt] = Φ1γ(k − 1) + · · · + Φpγ(k − p)
ρ(k) = Φ1ρ(k − 1) + · · · + Φpρ(k − p)

)��� !�$''� �
�������� k = 112, . . . , p ��������� ���3��� �� �����D ����'� ���,����
���(!� � 0����1����� �
���������,������⎛⎜⎜⎜⎝

ρ0 ρ1 · · · ρp−1

ρ1 ρ0 · · · ρp−2
���

���
� � �

���
ρp−1 · · · ρ1 ρ0

⎞⎟⎟⎟⎠
⎛⎜⎜⎜⎝

Φ1

Φ2
���

Φp

⎞⎟⎟⎟⎠ =

⎛⎜⎜⎜⎝
ρ1

ρ2
���

ρp

⎞⎟⎟⎟⎠
)���� ��
3���
���� ��������!�� �,	�� ρ(1), . . . , ρ(p) ���������� 	���� Φ1, . . . ,Φp

�
�#�����$���1 �	
� � ���	�� �28�9 �	������ �!�	�	�������$ - �#

�������� ����
p ����� �� �,	�� ρ(1), . . . , ρ(p)-��� �
������� S
����� �� �
������ ����������$
� Φ̂1, . . . , Φ̂p ������� '��������� �� � ρ̂1, . . . , ρ̂p ��
3���
�����

��7� ������	�����/� * 
��	"����	 4�.3�5 �����
�*
���

�?� 3�4
	2��� �� Xt 7�)&(�(��� �27�8�1T9 7�)&(�(��(" �1'1��8"# $(

Φ(B)Xt = Θ(B)et, 8
��9

($�) Φ(B) p;1� .+ Θ(B) q;(� 7�"9 A�)/����"�

���	� ������#� � �	������	� ��!��������1 �� ������� 7�8∞9 ������3����� )
�
��!����� �27� �	������ �!�	�	��������� - �#

������ �� 7�8∞9 ������3����'��
�������� �
�#�����$���� � ��������� ����� ��
3���
���� �!,(!� ����(����:

��� 5����� ��1��&/31� ξt +�(H/��02/!+# .+
∑∞

j=−∞ |Ψj| < ∞ (""�2 (� ηt :=∑∞
j=−∞ Ψjξt−j 78%%'.�& /+ +�(H/��02/!+# .+ (!��"�'(2/(�H/( ; 78%%'.�&1�

γη(h) =
∞∑

j=−∞

∞∑
k=−∞

ΨjΨkγξ(h − j + k)

!�7��� - �������
�� ��*������ �� ��������� )��
�
���

"�
�#� ���1 �	
� � Φ(z) �� Θ(z) �	���	�	���� ����� ����� 
����� )�� ��!
	,���
��������(#�1 ����� ��������� ����'�� � 8
��9 �
������'�� ����� � ����� 
������
�
�����@�3����#���

��� 5����� �� Xt ����4A#P5 7�)&(�(� "(!�()/�0+0�(" +�8"+.%1+ .+ 1).%+.%1+
71)�.�1)1# $�%& ( Φ(z) = 0 1%&1�)1��1" �1 )1%&1� ( |z| ≤ 1 1%&+.%":2:� 31)8)
%&:"1�



D�Q� �� >���	 �� �� �C��
�������G�� F�G������ 
�

∞∑
j=0

Ψjz
j =

Θ(z)
Φ(z)

, |z| ≤ 1

�C� 3�4
	2��� "
�� ���,�����
 �� Xt 7�)&(�(��� �����������$�(" �1'1��8"#
$( ∃Πj :

∑∞
j=0 |Πj | < ∞ .+ et =

∑∞
j=0 ΠjXt−j �

�&� 5����� �� Xt ����4A#P5 7�)&(�(� /�'12�0)$(�*+0%0�(" +�8"+.%1+ .+ 1).%;
+.%1+ 71)�.�1)1# $�%& ( Θ(z) = 0 1%&1�)1��1" �1 )1%&1� ( |z| ≤ 1 1%&+.%":2:�
31)8) %&:"1�

∞∑
j=0

Πjz
j =

Φ(z)
Θ(z)

, |z| ≤ 1

��8� �� ����	 �� �� �����������
��� $��������

E [Xt] = μ,Cov [Xt,Xt+n] = γ(n)

�� ����
 ����������� '�������

X̄n =
X1 + . . . Xn

n
1 ���� E

[
X̄n

]
= μ

�� ����
 ��$�����
�����

nD2(X̄n) =
1
n

n∑
i,j=1

Cov [Xi,Xj ] =
n∑

i,j=1

1
n

γ(i − j) =

=
n−1∑

h=−n+1

n−|h|∑
j=1

1
n

γ(h) =
∑
|h|<n

n − |h|
n

γ(h) ≤
∑
|h|<n

|γ(h)|

>� γ(n) → 01 ���	�

D2(X̄n) ≤
∑
|h|<n

|γ(h)| → 0.

>� ��,�
 ��
 �� �� �
��1 �	
� � γ(n) �	�	��� �'��	�?� �	����
���1 ���	� ��
����
 ��$�����
������� �� ���''� �������	����� �,���(!�

∞∑
h=−∞

|γ(h)| < ∞ ⇒ nD2(X̄n) →
∞∑

h=−∞
γ(h)
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!�8��� - ����
���)*��"�	� �� �� ��
���"����	&�� ���&����
�

��� 5���� 6"
�� � *�; �� � �
���� ����7�

6(
∞∑

n=−∞
|K(n)| < ∞# (""�2 K(h) =

π∫
−π

eihνf(ν)dν# ($�)

f(λ) =
1
2π

∞∑
n=−∞

einλK(n)# !%&(�/+

π∫
−π

eihνf(ν)dν =
1
2π

∞∑
n=−∞

K(n)

π∫
−π

ei(h−n)ν = K(h).

)���� �
�����@ ������������� �� ���''� ���3���

)
�
∞∑

h=−∞
|γ(h)| < ∞ �!��(,	���
? γ �#

���� �!�	�	��������� �#

���� ⇔

⇔ f(λ) =
1
2π

∞∑
n=−∞

e−inλγ(n) ≥ 0.

)���� ��������������� ����3��!� ��1 ���	� ���� �� ���''� ����? K �#

����
�!�	�	��������� �#

����N

K(h) =

⎧⎨⎩
11 �� h = 0
ρ1 �� h = ±1
0 �#���'���

f(λ) =
1
2π

∞∑
n=−∞

e−inλK(n) =
1
2π

(1 + 2ρ cos λ) ≥ 0 ⇒ |ρ| ≤ 1
2

!�8��� -�����
�
���� 	������
��

F�
��� ���,�!�

Xt = μ +
∞∑

j=−∞
ΨjZt−j 1 ��	�

Zt �#

�����1 ��	�	� ��	�����? 0 ������$ �������� �� σ2 ��$�����
�������1 �	��''�

∞∑
j=−∞

|Ψj | < ∞1 ,�
∞∑

j=−∞
Ψj 
= 0.

)��	�

X̄n
d→ N

⎛⎝μ,
1
n

∞∑
j=−∞

Ψ(n)

⎞⎠
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!�8��� γ(n) ��&�����

γ̂(n) =
1
n

n−h∑
t=1

(
Xt − X̄n

) (
Xt+h − X̄n

)
1 ��	� 0 ≤ h ≤ n − 1

)� �������	���
'�� �	��3�	�� '������ 8'�� '��	��	� �	��''� ���������� ���-

���� �������	���!��� �	��3������91 ,� ����	�� � Γ̂n =
[

̂γ(i − j)
]
1≤i,j≤n

�����D�

�	���3� �����,�+����
)���� '��	��3�����	� ���
1 �	
� Γ̂n = 1

nMMT � ��������� �� Yi = Xi − X̄n

(��������� ����(����� M �����D����

M =

⎡⎢⎢⎢⎣
0 0 . . . 0 0 Y1 Y2 . . . Yn−1 Yn

0 0 . . . 0 Y1 Y2 Y3 . . . Yn 0
���

��� . . .
���

���
���

��� . . .
���

���
0 Y1 . . . Yn−2 Yn−1 Yn 0 . . . 0 0

⎤⎥⎥⎥⎦ .

H������	� �������'������� ���	�,���(!�1 �	
� ρ(h) '�������

(
ρ̂(h) = ρ̂(h)

ρ̂(0)

)
���	� ($1 �� n ≥ 50 �� h ≤ n

4 �

!�8� � -� ��
��������&��� ����� �*�'	�'�	�� ����	�9��	��	 0�

��:

>� � ��������� ����? ��@�� �#

����� ��(��

Xt − μ =
∞∑

j=−∞
ΨjZt−j 1 ��

Zt �#

�����1 ��	�	� ��	�����? 0 ������$ �������� �� σ2 ��$�����
�������1 �	��''�

∞∑
j=−∞

|Ψj | < ∞1 �� E
[
Z4

i

]
< ∞1 ���	�

[
ρ̂(1), . . . ρ̂(h)

]
d→ N

(
[ρ(1), . . . ρ(h)] ,

1
n

W

)
1 ��	� W �� ?� C������� �����D

Wi,j =
∞∑

k=1

[ρ(k + i) + ρ(k − i) − 2ρ(i)ρ(k)] [ρ(k + j) + ρ(k − j) − 2ρ(j)ρ(k)] .

&��,�!� � �#

����� ����� ��( �	�������� ρ(l) 
= 01 �� l 
= 01 ����

Wi,j =
{

11 �� i = j
01 �� i 
= j

��
���

ρ̂(1), . . . , ρ̂(h) ≈ ����, N

(
0,

1
n

)
,

����� �	�+,��������������!�� ±1.96 1√
n
1 ����� ������� � �	������ ��	����� ��'-

������'$� 	�������!�� ���
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���9� ARMA 
�)����� $��������

����	� �
� �	������	� ARMA �	,����� �����3�#��1 � ��������� ������� �������
(��!�� ��:

�� ��
'���#�(#� p-� �� q-�1 �� ARMA �	�������	� ����	�$ ��� �	���	� �	�-
������

�� ��
'���#�(#� � �	���	�	� �
�#�����$��

�� ��
'���#�(#� � ��$�����
������

!��;��� <����
 p �� q

"����� �!�	��
�����3� ����'�� ���3����(!� � U!��-V����� �
����������:

Xt − Φ1Xt−1 − · · · − ΦpXt−p = et1 ��	� et ∼ WN(0, σ2)

ΓpΦ = γp1 ��	�

Γp = [γ(i − j)]pi,j=1

γT
p = [γ(1), . . . , γ(p)]

ΦT = [Φ(1), . . . ,Φ(p)].

"	��''�

σ2 = D2et = D2(Xt − Φ1Xt−1 − · · · − ΦpXt−p) = γ(0) − ΦTγp.

J
� � U!��-V����� '�������� � ��������� ����?�� �������:

Γ̂pΦ̂ = γ̂p ��

σ̂2 = γ̂(0) − Φ̂T γ̂p.

!��;��� <�����
��	 p

>� p ��� ������ �� AR(m)-�� ��$'��!�� ����������1 ���	� ��� ���(!�1 �	
� Φ̂m,m

����� �����

√
n
(
Φ̂m − Φm

)
d→ Nm(0, σ2Γ−1

m ),

��	� Φm �� Xm+1 ��
(	'' �������� �����3������� �
�#�����$����	��:∥∥Xm+1 − ΦT
m (X1, . . . ,Xm)

∥∥→ min.
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!��;��� - =����	�>�"�	��	 ������
���

� �����D���������� �����#������ � A!�'��-F�����	� ��
	����!�� �������(!�� F�-

����� �� m-�, ���,@ ��������� �
�#�����$�

Φ̂m =
(
Φ̂m,1, Φ̂m,2, . . . Φ̂m,m

)
= R̂−1

m ρ̂m ��

v̂m = γ̂(0)
[
1 − ρ̂T

mR̂−1
m ρ̂m

]
.

)��	� Φ̂1,1 = ρ̂(1) �� v̂1 = γ̂(0)
[
1 − ρ̂2(1)

]
� "	��''� � '���#�� ���������

�!�	�	��������� �#

����

Φ̂m,m =

⎡⎣γ̂(m) −
m−1∑
j=1

Φ̂m−1,j γ̂(m − j)

⎤⎦ /v̂m−1

⎡⎢⎣ Φ̂m,1
���

Φ̂m,m−1

⎤⎥⎦ = Φ̂m−1 − Φ̂m,m

⎡⎢⎣ Φ̂m−1,m−1
���

Φ̂m−1,1

⎤⎥⎦ 1 ��
v̂m = v̂m−1

(
1 − Φ̂2

m,m

)
.

)���������
 α(m) = Φm,m = 01 �� m > p1 
���	�������

√

nΦ̂m,m → N(0, 1)1

���� P
{
−1.96 1√

n
< Φ̂m,m < 1.96 1√

n

}
= 0.95� � ���,�� ����� �������� '�������

�,���!��: p̂ = min
{

r : ∀m > r |Φ̂m,m| < 1.96 1√
n

}
�

!��;� � -� �		�"�&��� ������
���

� E���-.����,� 	��	
	��������$� ��(������� �#

����� ����	�	�'$� 	��	
	�����
���,����� ����3����#�� ���3��������� �� ��(����� �,��	�	��� �� �����������(!� �
��������� �$,	�:

E [X]t = 01 �� κ(i, j) := E [XiXj ]

Hn := 〈X1, . . . ,Xn〉 = 〈X1 − X̂1, . . . ,Xn − X̂n〉1 ��	� X̂n+1 := prHnXn+1.

X̂n+1 =

⎧⎨⎩
0, n = 0
n∑

j=0
Θn,j

(
Xn−j+1 − X̂n−j+1

)
, n 
= 0 .

� Θ �
�#�����$� ���!��3� ������3����� � v ��
�,����	�$��� 8��$�����
����9
� ��������� ���,���� �,(� ��
:

vn :=
∥∥∥Xn+1 − X̂n+1

∥∥∥2
1 3
� v0 = κ(1, 1)

Θn,n−k =
1
vk

⎡⎣κ(n + 1, k + 1) −
k−1∑
j=0

Θk,k−jΘn,n−jvj

⎤⎦ 1 ��	� k = 0..n − 1
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vn = κ(n + 1, n + 1) −
n−1∑
j=0

Θ2
n,n−jvj

)���� '��	��3����� ?
� ���,(#�1 �	
� 0 ≤ k ≤ n ������ X1 − X̂1, . . . ,Xn −
X̂n 	��	
	�����1 ������ Xi − X̂i ∈ Hj−11 �� i < j1 �� Xj − X̂j ⊥ Hj−1� "����
X̂n+1 ,�+�3��$(�� ���������

〈X̂n+1,Xk+1 − X̂k+1〉 = Θn,n−kvk,

����� �
��������� � Xn+1 − X̂n+1 ⊥ Xk+1 − X̂k+1 ��	�	���
	� �,�� ���(!�1
�	
�

〈Xn+1,Xk+1 − X̂k+1〉 = Θn,n−kvk.

)''� X̂k+1 ,���3��$(�� 3���

Θn,n−k =
1
vk

〈Xn+1,Xk+1 −
k−1∑
j=0

Θk,k−j

(
Xj+1 − X̂j + 1

)
〉 =

1
vk

⎡⎣κ(n + 1, k + 1) −
k−1∑
j=0

Θk,k−jΘn,n−jvj

⎤⎦ 1 �	��''�
vn =

∣∣∣Xn+1 − X̂n+1

∣∣∣2 = |Xn+1|2 +
∣∣∣X̂n+1

∣∣∣2 =

κ(n + 1, k + 1) −
n−1∑
j=0

Θ2
n,n−jvj

&��,�!� � 7�8�9 �	������ ���,����$(�� 3
� �,���(!� ��
:

Xt = Zt + ΘZt−11 ��	� Zt ∼ WN(0, σ2)

κ(i, j) =

⎧⎨⎩
σ2(1 + Θ2) i = j
Θσ2 i = j + 1
0 �#���'��

v0 = κ(1, 1) = σ2(1 + Θ2),

Θn,j =
{ 1

vn−1
Θσ2 j = 1

0 2 ≤ j ≤ n

vn = (1 + Θ2)σ2 − 1
v2
n−1

Θ2σ4,

rn :=
vn

σ2
= (1 + Θ2) − 1

v2
n−1

Θ2σ2.

"���� � ���,����$:

X̂n+1 =
Θ

rn−1
(Xn − X̂n)
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!��;�!� ������
��� )������
�� ��&������

�� X1, . . . ,Xn �,��	��� � ��������� ������������ �����#� ����� ����$
��(���1
�	
� �� XX̂ ��������
�� �	���� � ��'��:

Xt = Zt + Θ̂m,1Zt−1 + · · · + Θ̂m,mZt−m1 ��	� Zt ∼ WN(0, v̂2
m).

>� γ̂(0) > 01 ���	� ������#� '� � '���#�� �
�#�����$� ����	���� � Θ̂m =(
Θ̂m,1, . . . , Θ̂m,m

)
(�������N )����� � ��������� ���!��3� '������ ��������:

v̂0 = γ̂(0) ��

Θ̂m,m−k = v̂−1
k

⎡⎣γ̂(m − k) −
k−1∑
j=0

Θ̂m,m−jΘ̂k,k−jv̂j

⎤⎦
v̂m = γ̂(0) −

k−1∑
j=0

Θ̂2
m,m−j v̂j1 ��	� k = 0, . . . ,m − 1

!��;�?� -�����
�
���� "������
�� -4�- )������
�� ���
�	

� (�������� ����, ��3���� � ���������:

Φ(B)Xt = Θ(B)Zt1 ��	� Zt ∼ IID(0, σ2) �� E
[
Z4

t

]
< ∞

Ψ(z) =
∞∑

j=0

Θ(z)
Φ(z)

1 |z| ≤ 11 Ψ0 = 1

)��	� ���,�� k-��

√
n
[
Θ̂m,1 − Ψ1, . . . , Θ̂m,k − Ψk

]
d→ N(0, A)1 ��	�

Ai,j =
min(i,j)∑

r=1

Ψi−rΨj−r1 �	��''�

m(n) → ∞ ?
�1 �	
� m(n) = o( 3
√

n)1 �� v̂m
p→ σ2.

4�� (�
����#� ��
1 �	
� AR(p) ����'�� � A!�'��-F�����	� ��
	����!� �����

� Φp-�� �,	�� Φ̂p =
(
Φ̂p,1, . . . , Φ̂p,p

)
'������ �	���������1 �� n → ∞� B���	��

MA(k) ����'�� �� ���	����$� ��
	����!� ����� �,	�� Θ̂q =
(
Θ̂q,1, . . . , Θ̂q,q

)
'���-

��� ��� �	���������1 ����	�� �
(
Θ̂m,1, . . . , Θ̂m,q

)
��� ���

� 
���	����'�� MA(q) ����'�� �!,(!�1 �	
� ρ(m) = 01 �� m > q1 ��
C������� ������ �����

ρ̂(m) ???→ N

⎛⎝0,
1
n

???∑
i=−q

ρ(i)

⎞⎠ .

W
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!��;�2� ������� ���������
 ��&������

E [Xt] = 0 �!��(,	���
? E�!�� �	������ ������ � Γn = E
[
XnXT

n

]
(��������� �

�������		, �#

���� � ���������:

L(Γn) =
1

(2π)n/2

1
(det Γn)1/2

exp
(
−1

2
XT

nΓ−1
n Xn

)
.

� �����D���������� �� � ,��������������3��� �����#������ � ��������� ��
	-
����!� (����	��: k = 0, . . . , n − 1 ������

X̂k+1 =
k−1∑
j=0

Θk,k−j

(
Xj+1 − X̂j+1

)
1 ����

⎛⎜⎝ X̂1
���

X̂n

⎞⎟⎠ =

⎛⎜⎜⎜⎜⎜⎝
0 0 0 . . . 0

Θ1,1 0 0 . . . 0
Θ2,2 Θ2,1 0 . . . 0
���

���
���

� � �
���

Θn−1,n−1 Θn−1,n−2 Θn−1,n−3 . . . 0

⎞⎟⎟⎟⎟⎟⎠
⎛⎜⎝ X1 − X̂1

���
Xn − X̂n

⎞⎟⎠ .

� ������'�� �������� �����D	� (����(#� � ���������������

C̄ = [Θi,i−j]
n−1
i,j=0 1 ��	� j ≤ 0 ������ Θi,j = 0.

)�� � ������	� �$,	�3��!� ?
�1 �	
� � �����$'� �-���� 3�!��: C := C̄ + Id�
)��	�

C
(
Xn − X̂n

)
= (C̄ + Id)

(
Xn − X̂n

)
= X̂n + Xn − X̂n = Xn1 ����

Γn = E
[
XnXT

n

]
= CE

[(
Xn − X̂n

)(
Xn − X̂n

)T
]

CT = CDCT 1 ��	�

D = diag(v0, v1, . . . , vn−1)1 ���� � ,���������� �
�����@�� 3
� ����3���,$:

det Γn = (det C)2 det D = v0v1 . . . vn−1.

� ������ �� �
�����@'' ������ �	����$:

XT
nΓ−1

n Xn =
(
Xn − X̂n

)T
CTΓ−1C

(
Xn − X̂n

)
=

(
Xn − X̂n

)T
CT CT−1

D−1C−1C
(
Xn − X̂n

)
=

(
Xn − X̂n

)T
D−1

(
Xn − X̂n

)
=

n∑
j=1

(
Xj − X̂j

)2

vj−1



6�

"���� ��
���,���������� � �������		, �#

���� ��
�
�����@'' ����(�:

L(Γn) = (2π)−n/2(v0v1 . . . vn−1)−1/2 exp

⎡⎢⎣−1
2

n∑
j=1

(
Xj − X̂j

)2

vj−1

⎤⎥⎦ .


